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1. The term 'West Texas Intermediate', sometimes found in news, refers

to a grade of:

A Crude oil

B Bullion

C Rare earth elements

D Uranium

Solution

The correct answer is Crude Oil.

e West Texas Intermediate (WTI), which 1s a particular grade of crude
oil, 1s the underlying commodity of oil futures contract of the New
York Mercantile Exchange (NYMEX).

e Brent Crude, Dubai Crude and WTI Crude are the three major
benchmarks 1n the pricing of oils in the global market.

e [t was recently seen in news, as for the first time in history, the price
of the May futures contract of WTI crude fell to a negative price of
-$37.63 per barrel.

e This was due to the low demand of oil amid the Covid-19 crisis.
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2. In India, why are some nuclear reactors kept under "IAEA

Safeguards" while others are not?

A Some use uranium and others use thorium

B Some use imported uranium and others use domestic supplies

C

Some are operated by foreign enterprises and others are operated by domestic
enterprises

D Some are State-owned and others are privately-owned
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Solution

The correct answer is Some use imported uranium and others use domestic

supplies.

e TAEA safeguards are a set of technical safeguards applied by IAEA
to independently verify any nuclear facilities to check if it is not
misused or deviated from peaceful uses.

e Under Article 3 of the Non-Proliferation of Nuclear Weapons Treaty,
all the nonnuclear weapon states are required to conclude a
safeguard agreement with IAEA.

e Total 26 of India's nuclear facilities are under IAEA safeguard. The
two Russian PLWR and two PHW reactors are recently brought
under TAEA safeguards.
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3. Who among the following rulers advised his subject through the

inscription?

“Whosoever praises his religious sect or blames other sects out of
excessive devotion to his own sect, with the view of glorifying his own

sect, he raither injures his own sect very severely.”

A Ashoka

B Samudragupta

C Harshavardhana

D Krishnadeva Raya

Solution

e The quote 1s taken from Ashoka’s Dhamma.

e The Edicts of Ashoka are a collection of more than

thirty inscriptions on the pillars, as well as boulders and cave walls,
attributed to Emperor Ashoka of the Mauryan Empire who reigned from
268 BCE to 232 BCE.

e Ashoka, based on a belief that all religions shared a

common, positive essence, encouraged tolerance and understanding of

other religions.
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e The Beloved of the Gods, the king Piyadassi, wishes

that all sect may dwell in all places, for all seek selfcontrol and purity of

mind. (Major Rock Edict No.7).
e For whosoever praises his own sect or blames other

sects,—all (this) out of pure devotion to his own sect, (i.e.) with the view
of glorifying his own sect,—if he 1s acting thus, he rather injures his own

sect very severely.

e But concord is meritorious, (1.e.) that they
should both hear and obey each other's morals.

e For this is the desire of Devanampriya, (viz.) that all sects
should be both full of learning and pure 1n doctrine.

e And those who are attached to their respective (sects),

ought to be spoken to (as follows). Devanampriya does not value either
gifts or honours so (highly) as (this), (viz.) that a promotion of the
essentials of all sects should take place. (Major Rock Edict No.12).
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4. With reference to the period of Gupta dynasty in ancient India, the

towns Ghantasala, Kadura and Chaul were well known as

ports handling foreign trade

capitals of powerful kingdoms

places of exquisite stone art and architecture

important Buddhist pilgrimage centres

Solution

e Both the coasts of India have been studded with a string of ports

since the ancient time and involved in foreign trade.

During the Gupta era, the ports of the east coast, Tamralipti,
Ghantashala, and Kadura handled the north-Indian trade with
south-east Asia, and those of the west coast, Broach, Chaul, Kalyan
and Cambray, traded with the Mediterranean and west Asia but the
more southerly of these ports were outside Gupta control.

The export of spices, pepper, sandalwood, pearls, precious stones,
perfumes, indigo, and herbs continued as before but the
commodities that were imported differed from those of earlier times.
Chinese silk came in greater quantity, as did ivory from Ethiopia.
The import of horses, coming from Arabia, Iran, and Bactria, either

overland to centres in the north-west or by sea to the west coast,
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increased during this period. Therefore, the correct answer is (a).
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5. With reference to "Blockchain Technology" consider the following

statements:

1. It is a public ledger that everyone can inspect, but which no
single user controls.

2. The structure and design of blockchain is such that all the data
in it are about cryptocurrency only.

3. Applications that depend on basic features of blockchain can be

developed without anybody's permission.

Which of the statements given above is/are correct?

A 1 only

B 1 and 2 only

C 2 only

D 1 and 3 only

Solution

e Blockchain can be defined as a distributed ledger technology that
can record transactions between parties in a secure and permanent
way.

e By ‘sharing’ databases between multiple parties, blockchain

essentially removes the need for intermediaries who were previously
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required to act as trusted third parties to verify record and coordinate
transactions.

e [t is a foundational technology or a platform that allows designing a
secure way to record transactions and circulate it among signatories,
or any kind of target group with an Internet connection.

e At its core it 1s an extremely democratic ledger that cannot be

arbitrarily manipulated and easily shareable.
Hence, statement 1 is correct.

e The structure of block chain to eliminate intermediary and enhance
authentication such that it supports wide range of applications in
health, education, governance, diamond industry, financial sector,

etc.
Hence, statement 2 is not correct.

e Most of the applications using block chain technology do not fulfil
the criteria of patent filing in Blockchain Technology.

e Distributed ledger in peer to peer network 1s used for recording the
transactions which does not generate much confidence in getting the
patent as it 1s like getting a patent for an algorithm/Computer
Program and as per Indian Patent Act, 1970, Section 3(k) which
states that “a mathematical or Business method or a computer
program per se or Algorithms”™ are not patentable.

e As per the ruling of Delhi High Court in the 2014 case of Ericson Vs
Intex, the court stated that any invention which has a technical
contribution or has a technical effect and is not merely a computer
program per se as alleged by the defendant and the same 1s

29

patentable..... :

Hence, statement 3 is correct. Therefore, the correct answer is (d).
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6. With reference to Foreign Direct Investment in India, which one of the

following is considered its major characteristic?

A

It 1s the investment through capital instruments essentially in a listed company.

B It is a largely non-debt creating capital flow.

C It is the investment which involves debt-servicing

D

It 1s the investment made by foreign institutional investors in the Government
securities.

Solution

e FDI can happen in unlisted companies also. Infact as per Mayaram
panel-2014, for unlisted companies, all foreign investment is taken
as FDI.

e A debt flow 1s a type of foreign capital where there is obligation for
the residents to repay it. A non-debt flow is the one where there is no
direct repayment obligation for the residents.

e For example, in the case of FDI, there is not debt payment
obligation. On the other hand, in the case of External Commercial
Borrowings that is a loan taken by residents from abroad, the loan i1s

to be repaid and this is a debt flow. When the capital inflow 1s a debt
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flow like External Commercial Borrowings or NRI deposits, it
means debt payment obligation for the country.

e FDI and Depository Receipts are non-debt flows. These inflows
don’t create any repayment burden. On the other hand, ECBs,
FCCBs, Rupee Denominated Bonds, NRI deposits and banking

capital are debt creating flows.
e [t 1s non-debt creating. So, it doesn’t involve debt servicing.
e FDI 1s not restricted to government securities.

Therefore, the correct answer is (b).
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7. In India, separation of judiciary from the executive is enjoined by

A the Preamble of the Constitution

B a Directive Principle of State Policy

C the Seventh Schedule

D the Conventional Practice

Solution

e Article 50 of the Indian Constitution recommends state to take
efforts to separate the judiciary from the executive in the public
services of the State.

e The Criminal Procedure Code (1973) has affected the separation of
Judiciary from the Executive in pursuance of Article 50 under the
Directive Principles of State Policy.

e Therefore the correct answer is (b).
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8. Consider the following pairs:

River Flows into

1. Mekong Andaman Sea
2. Thames Irish Sea

3. Volga Caspian Sea
4. Zambezi Indian Ocean

Which of the pairs given above is/are correctly matched?

A 1 and 2 only

B 3 only

C 3 and 4 only

D 1,2 and 4 only

Solution

Explanation:

e Meckong river flows into South China Sea after crossing Laos, (Also

some parts of Myanmar) Thailand, Cambodia and lastly in Vietnam.
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e Thames flows into English channel. It passes through London which
1s on the Eastern part of U.K. Irish sea is on the Western side.

e Zambezi river flows into Indian Ocean after crossing Mozambique.
It 1s 1n the East Africa.

e Volga flows into Caspian Sea after meandering through Russia

Therefore, the correct answer is (¢).
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9. With reference to the provisions contained in Part IV of the

Constitution of India, which of the following statements is/are correct?
1. They shall be enforceable by courts.
2. They shall not be enforceable by any court.

3. The principles laid down in this part are to influence the making
of laws by the State.

Select the correct answer using the code given below:

A 1 only

B 2 only

C 1 and 3 only

D 2 and 3 only

Solution

The correct answer is 2 and 3 only.

e Part IV of the Indian Constitution deals with the Directive Principles
of our State Policy (DPSP).
e The provisions contained in this Part cannot be enforced by any

court. Hence Statement 2 1s Correct.
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e The DPSP is fundamental in the governance of the country and it
shall be the duty of the State to apply these principles in making
laws.

e DPSPs are positive obligations on the state, though not enforceable
in a court of law.

e The principles laid down 1in this part are to influence the making of
laws by the State.

e The Directive Principles are non-justiciable in nature, that is, they
are not legally enforceable by the courts for their violation.
Therefore, the government (Central, state and local) cannot be
compelled to implement them. Nevertheless, the Constitution
(Article 37) itself says that these principles are fundamental in the
governance of the country and it shall be the duty of the State to

apply these principles in making laws
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10. A Parliamentary System of Government is one in which

A all political parties in the Parliament are represented in the Government

B

the Government is responsible to the Parliament and can be removed by it
. J

C the Government is elected by the people and can be removed by them

D

the Government is chosen by the Parliament but cannot be removed by before
completion of a fixed term

Solution

e Parliamentary system, democratic form of government in which the
party (or a coalition of parties) with the greatest representation in the
parliament (legislature) forms the government, its leader becoming
prime minister or chancellor.

e Executive functions are exercised by members of the parliament
appointed by the prime minister to the cabinet.

e In Indian democractic setup, the Government 1s responsible to the
Parliament and can be removed by it.

o Specifically, it is the Lok Sabha for which the council of
ministers are collectively responsible.
o This form of government where the centre is responsible to

the elected representatives of the Parliament, 1s called the
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"Parliamentary form of government". Hence, Option B is the
correct answer.

o This responsibility means that executive stays in power as
long as 1t enjoys the confidence of the house. The moment, the
confidence is lost, it can be removed by Parliament by passing

the no-confidence motion.

https://streamline.entri.app/#/questioncollections/61240/print/?statement=enabled&options=enabled&answerKey=enabled&solutions=enabled&activeLanguage=en 19/187



1/20/25, 12:52 PM Entri | Entri Content Platform

11. Rajya Sabha has equal powers with Lok Sabha in

A the matter of creating new All India Services

B amending the Constitution

C the removal of the government

D making cut motions

Solution

e According to the provisions of Article 312, the Parliament can create
a new all India service, 1f a resolution to that effect in the national
interest 1s passed by the council of states (Rajya Sabha). Hence
Rajya Sabha has more power over the creation of the new All India
Service. Hence Option 1 1s Not Correct.

e Article \(75(3)\) of the Constitution states that the Council of
Ministers shall be collectively responsible to the House of the
People.

e Hence, 1n this regard, Lok Sabha has greater power as compared to
Rajya Sabha. Hence Option 3 is Not Correct.

e Every Cut Motion to a demand for Grant represents disapproval of
some aspect or other of the Budget or the economic policy of the

Government.
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e The Rajya Sabha can only make recommendations with regards to
the cut motion. Hence Option 4 1s Also Not Correct.

e A bill to amend the Constitution can be introduced 1n either house of
the Parliament and both the houses have equal powers 1n respect to
the Constitutional Amendment Bill. Amendment bill has to be
approved by both the houses of Parliament with special majority.
There is no provision of Joint Session in case of disagreement, so,
Lok Sabha cannot override the decision of Rajya Sabha.Hence

Option 2 1s Correct.
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12. Among the following Tiger Reserves, which one has the largest area
under "Critical Tiger Habitat"?

A Corbett

B Ranthambore

C Nagarjunsagar-Srisailam

D Sunderbans

Solution

e Nagarjunsagar-Srisailam Tiger Reserve is the largest tiger reserve in
India, having the largest area under "Critical Tiger Habitat"

e The reserve spreads over five districts, Kurnool District, Prakasam
District, Guntur District, Nalgonda District, and Mahbubnagar
district.

e The total area of the tiger reserve 1s \(3,728 km "{2}(1,439\) sq \
(mi) ).

Area of the Core / Critical Tiger Habitat (in
Tiger Reserve

sq. Km)
Corbett 821.99

Ranthambore 1113.364
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Area of the Core / Critical Tiger Habitat (in
Tiger Reserve
sq. Km)

Nagarjunsagar-
.g _J . 2595.72
Srisailam

Sunderbans| 1699.62 | |
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13. With reference to solar water pumps, consider the following

statements:

1. Solar power can be used for running surface pumps and not for
submersible pumps.
2. Solar power can be used for running centrifugal pumps and not

the ones with piston.

Which of the statements given above is/are correct?

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

e Solar power can be utilized to run various types of pumps, including
surface pumps and submersible pumps.

e In addition to surface and submersible pumps, solar power can also
be used to run centrifugal pumps and piston (or reciprocating)
pumps.

e These solar water pumping systems are highly versatile and can be

designed to operate any type of pump.
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e Centrifugal pumps are commonly used for moving water in large
volumes and are suitable for applications that require relatively low

lift.
e Piston pumps, are suitable for applications that require higher lifts

and can pump water from deeper sources.
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14. Consider the following pairs:

International agreement/set up  Subject

1. Alma-Ata Declaration Healthcare of the people

2. Hague Convention Biological and chemical weapons
3. Talanoa Dialogue Global climate change

4. Under2 Coalition Child rights

Which of the pairs given above is/are correctly matched?

A 1 and 2 only

B 4 only

C 1 and 3 only

D 2,3 and 4 only

Solution

e Alma Ata Declaration was adopted at an international conference on
primary health care held in Kazakhstan in 1978 .
e [t was the first international declaration underlining the importance

of primary health care. Hence Pair 1 1s Correct.
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e The Hague Convention protects children and their families against

the risks of illegal, irregular, premature, or 1ll-prepared adoptions

abroad.

o Hague Convention is a multilateral treaty that came into
existence on 1 st December \(1983 .\)
o The Convention applies to children age under 16 years.
Hence, Pair 2 1s NOT correct.
The Talanoa Dialogue is a process designed to help countries

implement and enhance their Nationally Determined Contributions

by 2020 .

o The Dialogue was mandated by the Parties to the United
Nations Framework Convention for Climate Change to take
stock of the collective global efforts to reduce the emissions of
greenhouse gases, in line with the goals of the Paris
Agreement. Hence Pair 3 1s Correct.

The Under2 Coalition 1s a global community of state and regional
governments committed to ambitious climate action in line with the

Paris Agreement. Hence, Pair 4 1s NOT correct.

In 2016, the then Women and Child Development Minister Maneka
Gandhi had said that India will not ratify the the Hague Convention
on the Civil Aspects of International Child Abduction in the interest
of women fleeing bad marriage and had set up the panel headed by
Punjab and Haryana High Court judge Rajesh Bindal for detailed
report and the panel in its 2018 report has not recommended signing

the treaty
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15. Which part of the Constitution of India declares the ideal of Welfare
State?

A Directive Principles of State Policy

B Fundamental Rights

C Preamble

D Seventh Schedule

Solution

e The welfare state 1s a concept of government in which the state plays
a key role in the protection and promotion of the economic and
social well-being of its citizens.

e The government ensures the availability of a social security net
which may include education, housing, sustenance, healthcare, etc.

e The Indian Constitution declares the concept of the welfare state in
the Directive Principles of State Policy (DPSP).

e They embody the concept of a ‘welfare state’ through the socialistic
principles and not that of a ‘police state’, which existed during the
colonial era.

e For example, Article 38 seeks to promote the welfare of the people

by securing a social order permeated by justice—social, economic
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and political— and to minimise inequalities in income, status,

facilities and opportunities.
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16. Which of the following statements correctly explains the impact of
the Industrial Revolution on India during the first half of the

nineteenth century?

A Indian handicrafts were ruined.

B Machines were introduced in the Indian textile industry in large numbers.

C Railway lines were laid in many parts of the country.

D Heavy duties were imposed on the imports of British manufacturers.

Solution

e Deindustrialisation of Indian traditional cottage and handicraft

industry was a direct

consequence of industrial revolution in England along with colonization of

India.
Thus, statement (a) is correct.

e Machines were not introduced in Indian textile industry in large

number 1n the first half of the
19th century.

e Rather the modern textile mills with imported machinery started

taking baby
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steps in 1850s in Bombay, Ahmedabad and Calcutta. Only after the first

world war that Indian industrialization started taking fast steps.
Thus, statement (b) is not correct.

e The first railway line in India was laid between Bombay and Thane
in 1853.

e Railway expansion was relatively slow even till mid-1860. Only in

the latter half of the 19th century
that Railway expansion gathered space in India.
Thus, statement (c) is not correct.

e India acted as a captive market for British industrial goods.

e Rather, the colonial economic

policy was of one-way free trade in which British manufacture was

dumped at a very cheap rate in India.

Thus, statement (d) is not correct. Therefore, the correct answer is (a).
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17. One common agreement between Gandhism and Marxism is

A the final goal of a stateless society

B class struggle

C abolition of private property

D economic determinism

Solution

The Correct Answer is the final goal of a stateless society.

e A stateless society refers to a society that lacks formal institutions of
government.

e According to Gandhi's concept of Ramarajya, the state 1s a social
order free from political bindings and consisting of self-governing
individuals.

e Marx also spoke of the stateless communist society.

e Karl Marx had predicted that the proletariats will take control of the
state and production, destroy all class differences and class
antagonisms, and finally resulting in the ‘withering away of the
State’.

e Thus, the end result will be a stateless society.
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18. With reference to pulse production in India, consider the following

sentences:-

1. Black gram (Urad) can be cultivated as both Kharif and rabi
crop.
2. Green gram (Moong) alone accounts for nearly half of pulse

production.

Which of the statements given above is/are correct?

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

e During kharif, it is cultivated throughout the country. It is best suited
to rice fallows during rabi in southern and south-eastern parts of

India.

e Blackgram needs relatively heavier soils than greengram.
So, statement 1 is correct.

e Gram is the most dominant pulse having a share of around 40 per

cent in the total production followed by Tur/Arhar at 15 to 20 per
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cent and Urad/Black Matpe and Moong (Greengram) at around 8-10
per cent each.

e Madhya Pradesh, Maharashtra, Rajasthan, Uttar Pradesh and
Karnataka are the top five pulses producing States.

e Productivity of pulses is 764 kg/ha.
So, statement 2 is not correct.

e In the last three decades, the production of kharif pulses first
decreased then increased and the production of rabi pulses has also

increased.

So, statement 3 is not correct.
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19. With reference to the history of India, “Ulgulan” or the Great Tumult

is the description of which of the following events?

A Birsa Munda’s Revolt of 1899-1900

B The Revolt of 1857

C The Mappila Rebellion of 1921

D The Indigo Revolt of 1859 — 60

Solution

e Birsa Munda (1874-1900) was the son of a sharecropper who had
received some education from the missionaries.

e Birsa became a critic of the traditional tribal customs, religious
beliefs and practices.

e He called upon the Mundas community to fight against superstition,
give up animal sacrifice, and retain the tribal tradition of worship in
the sacred grove.

e Munda Rebellion 1s one of the prominent 19th century tribal
rebellions in the subcontinent.

e Birsa Munda led this movement in the region south of Ranchi in
1899-1900.

e The ulgulan, meaning 'Great Tumult', sought to establish Munda

Raj and independence.
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Therefore, the correct answer is (d).
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20. The Vital-Vidhvansak, the first monthly journal to have the

untouchable people as its target audience was published by

A Jyotiba Phule

B Gopal Baba Walangkar

C Bhimrao Ramji Ambedkar

D Mohandas Karamchand Gandhi

Solution

e Gopal Baba Walangkar, (ca. 1840-1900) is an early example of an
activist working to release the untouchable people of India from
their historic socio-economic oppression and is generally considered
to be the pioneer of that movement.

e He developed a racial theory to explain the oppression and also
published the first journal targeted at the untouchable people.

e In 1888, Walangkar began publishing the monthly journal titled
Vital-Vidhvansak (Destroyer of Brahmanical or Ceremonial
Pollution), which was the first to have the untouchable people as its
target audience.

e He also wrote articles for Marathi-language newspapers such as
Sudharak and Deenbandhu, as well as composing couplets in

Marathi that were intended to inspire the people.
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e In 1889, he published Vital Viduvansan (Annihilation of Ceremonial
Pollution), which protested the position of untouchables 1n society
and raised consciousness regarding what those people should expect.

e He addressed this pamphlet, which was crafted as a collection of 26

questions, to the elites of Maharashtrian society.
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21. which one of the following is the correct description of the term

‘paramitas’?

A Powerful merchant guilds of early medieval South India

B Perfections whose attainment led to the Bodhisattva path

C Philosophical schools that did not accept the authority of Vedas

D The earliest Dharmashastra texts written in aphoristic (sutra) style

Solution

e In the context of the path of the bodhisattva, the paramitas (paramis)
represent qualites that the bodhisattva strives to perfect in order to
purify karma and kleshas and develop bodhicitta to the highest
degree possible.

e The several stages along the bodhisattva path involved the
attainment of a number of perfections known as paramitas. These
were originally listed as six and later expanded to ten.

e They consisted of generosity (dana), good conduct (shila), patient
forbearance (kshanti), mental strength (virya), meditation (dhyana),
wisdom (prajna), skilfulness in means (upayakaushalya),

determination (pranidhana), power (bala), and knowledge (jnana).
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22. With reference to the history of India, consider the following pairs:
1) Aurang: In-charge of treasury of the State.
2) Banian: Indian agent of the East India Company.
3)Mirasidar: Designated revenue payer to the State

Which of the pairs given above is/are correctly matched ?

A 2 and 3
B 1 and 3
C 1,2 and 3
D 1 and 2
Solution

e Aurang was a Persian term for a warechouse — a place where goods
are collected before being sold; also refers to a workshop. Thus, pair
(1) 1s not correct.

e Banians (banias) were agents of the company. “A Banyan is a
person...by whom the English gentlemen in general conduct all their
business. He 1s interpreter, head book-keeper, head secretary, head
broker, the supplier of cash and cash-keeper, and in general also

secretkeeper.... They might appear to have become their masters’
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servants, merely managing their trade for them; but the reality was
often less that of master and servant than of trading partners.

e The banian brought his skill and his capital to the partnership; the
European contributed his privileges.” [ P.J.Marshall — East Indian
Fortunes (1976) p.45]. Thus, pair (2) 1s correct.

e Mirasdar in Urdu means hereditary landowner, co-proprietor. In
Persian, miras is inheritance, estate. He was also a revenue payer to

the state. Thus, pair (3) 1s correct. Therefore, the correct answer 1s

(b).
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23. Under the Kisan Credit Card scheme, short-term credit support is

given to farmers for which of the following purposes?

1. Working capital for maintenance of farm assets

2. Purchase of combine harvesters, tractors and mini trucks
3. Consumption requirements of farm households

4. Post-harvest expenses

S. Construction of family house and setting up of village cold

storage facility

Select the correct answer using the code given below :

A 1,2 and 5

B 1,3 and 4

C 2,3,4and 5

D 1,2,3,4and 5

Solution

Kisan Credit Card Scheme The Kisan Credit Scheme (KCC) was
introduced 1n 1998 based on a model scheme prepared by the National

Bank for Agriculture and Rural Development (NABARD).

The scheme was introduced to meet the various credit requirements of the

agriculture sector by giving financial assistance to farmers.
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The Kisan Credit Card scheme was brought about with the aim of
simplifying the procedure for farmers in getting adequate and timely
credit. This would help farmers in the purchases of agriculture inputs such

as seeds, fertilizers, pesticides etc.

The KCC also covers post-harvest expenses, consumption requirements,
investment 1n credit requirements for agricultural and allied activities. The
scheme 1s implemented by Commercial Banks, Small finance banks and

cooperatives
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24. Consider the following statements:

1. Jet streams occur in the Northern Hemisphere only.
2. Only some cyclones develop an eye.
3. The temperature inside the eye of a cyclone is nearly 10°C

lesser than that of the surroundings.

Which of the statements given above is/are correct?

A 1 only

B 2 and 3 only

C 2 only

D 1 and 3 only

Solution

e Jet streams are relatively narrow bands of strong wind in the upper
levels of the atmosphere.

e The winds blow from west to east in jet streams but the flow often
shifts to the north and south.

e Jet streams follow the boundaries between hot and cold air.

e Since these hot and cold air boundaries are most pronounced in
winter, jet streams are the strongest for both the northern and

southern hemisphere winters. Hence, statement 1 is not correct.
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e The “eye” of Tropical Cyclone is a roughly circular area of

comparatively light winds and fair weather found at the center of a
severe tropical cyclone.

The eye 1s the region of lowest surface pressure and warmest
temperatures aloft (in the upper levels) — the eye temperature may be
10°C warmer or more at an altitude of 12 km than the surrounding
environment, but only 0-2°C warmer at the surface in the tropical
cyclone (Hawkins and Rubsam 1968). Hence, statement 3 is not
correct.

The formation of an eye 1s almost always an indicator of increasing
tropical cyclone organisation and strength.

Because of this, forecasters watch developing storms closely for
signs of eye formation.

But in Extratropical Cyclones or Temperate Cyclones, there is not a
single place where winds and rains are inactive (as in case of

Tropical Cyclone). Hence, statement 2 is correct.

Therefore, the correct answer is (¢).
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25. In the context of India, which one of the following is the

characteristic appropriate for bureaucracy?

A An agency for the implementation of public policy

B An agency for strengthening the structure of federalism

C An agency for widening the scope of Parliamentary democracy

D  An agency for facilitating political stability and economic growth

Solution

e The primary function of bureaucracy 1s the execution and
enforcement of the laws made by the legislature and policies decided

by the political executive.
e The rule of officials is called bureaucracy.
e The burecaucracy is the officers who carry out public services.

e The bureaucracy operates impartially beyond party political

interests.

e The bureaucracy does not act in accordance with party political

interests.

e The fixed service period is the specialty of the staff and the

hierarchical organization is the specialty of the staff.
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e Its major functions are executing laws, creating rules and
adjudication. Bureaucracy has no direct role in the dynamics of
parliamentary democracy as it works on principles of political
neutrality and anonymity. Hence, it is apolitical. In context of India,
bureaucracy is represented by All India Services like IAS which are
unitary in characteristic and they are often criticised by state
governments as going against the federal spirit. Though bureaucracy
acts as catalyst for economic growth and provides stability to
administration and policy to some extent, it has no direct role in
political stability. Political stability in India’s parliamentary system

is dependent on the confidence enjoyed by executive in Lok Sabha.
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26. If you withdraw 10,000 in cash from your Demand Deposit Account
at your bank, the immediate effect on aggregate money supply in the

economy will be ?

A toincrease it by 10,000

B to reduce it by 10,000

C to increase it by more than 10,000

D to leave it unchanged

Solution

At a very basic level, aggregate money supply (say M) refers to the “total
stock of money available for use” in the economy. So, two absolute basic

components of money supply are:

e Currency with public (C): This consists of currency notes in
circulation 1ssued by RBI, rupee notes & coins in circulations, as
well as small coins in circulation.

e Demand Deposits of public with Banks (also called as deposit
money) (D): These deposits can be withdrawn by public at any point
depending upon need. Without getting into the technicalities of M1,
M2 etc, at a very basic level, we can express money supply as: M =

C+D
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e Now, taking out Rs 1 lakh from “D” would increase “C” with public.
This simply means that “the immediate™ effect would be “a no
change 1n the aggregate money supply” in the economy. If we carry
out the same analysis technically also using measures of money
supply like M1, M2, M3 and M4, the result would be same.

Therefore, the correct answer 1s (d).
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27. With reference to Trade-Related Investment Measures (TRIMS),

which of the following statements is/are correct?

(1) Quantitative restrictions on imports by foreign investors are
prohibited.

(2) They apply to investment measures related to trade in both goods

and services.
(3) They are not concerned with the regulation of foreign investment.

Select the correct answer using the code given below:

A 1 and 2 only

B 2 only

C 1 and 3 only

D 1,2 and 3

Solution

e Trade-Related Investment Measures provide quantitative restrictions

on imports by foreign investors are prohibited. Hence statement 1 is

correct.
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e TRIMS agreement applies only to investment measures related to
trade 1n goods and not in services and 1t 1s mentioned in Article 1 of

the TRIMS agreement, hence statement 2 1s incorrect.

e As per the TRIMs Agreement, members are required to notify the
WTO Council for Trade in Goods of their existing TRIMs that are
inconsistent with the agreement. TRIMs are rules that restrict the
preference of domestic firms and thereby enable international firms

to operate more easily within foreign markets.

e They don’t regulate foreign investment as such, which is governed
by FEMA and DIPP guidelines/regulations. Hence statement 3 1s

correct.
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28. Which one of the following categories of ‘Fundamental Rights

incorporated against untouchability as a form of discrimination?

A Right against Exploitation

B Right to Freedom

C Right to Constitutional Remedies

D Right to Equality

Solution

e Right to equality consists of Articles 14, 15, 16, 17 and 18.
e Article 17 deals with abolition of untouchability.

e Untouchability 1s abolished and its practice in any form is forbidden.

e The enforcement of any disability arising out of "Untouchability"

shall be an offence punishable in accordance with law.
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29. A constitutional government by definition is a ?

Popular government

Government by legislature

Limited government

Multi-party government

Solution

e Constitutional government is defined by the existence of a

constitution-which may be a legal instrument or merely a set of
fixed norms or principles generally accepted as the fundamental law
of the polity-that effectively controls, 1.e. limits the exercise of
political power.

The essence of constitutionalism is the control of power by its
distribution among several state organs or offices in such a way that
they are each subjected to reciprocal controls and forced to
cooperate in formulating the will of the state.

Constitutional government in essence 1s about constitutionalism
which is about limited government.

In many cases, constitutional government is used interchangeably

29

with “constitutionally limited government” or “limited government”.
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So, the correct answer is an option (C) .
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31. Other than the Fundamental Rights, which of the following parts of
the Constitution of India reflect/reflects the principles and provisions
of the Universal Declaration of Human Rights (1948)?

1. Preamble
2. Directive Principles of State Policy

3. Fundamental Duties

Select the correct answer given below?

A 1 and 2 only

B 2 only

C 1 and 3 only

D) 1,2and3

Solution

e The Universal Declaration of Human Rights (1948 consists of the
following: The preamble sets out the historical and social causes that
led to the necessity of drafting the Declaration.

e Articles 1-2 established the basic concepts of dignity, liberty, and
equality.

e Articles 3—5 established other individual rights, such as the right to

life and the prohibition of slavery and torture.
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e Articles 6-11 refer to the fundamental legality of human rights with
specific remedies cited for their defence when violated.

e Articles 12—17 established the rights of the individual towards the
community, including freedom of movement.

e Articles 18-21 sanctioned the so-called "constitutional liberties" and
spiritual, public, and political freedoms, such as freedom of thought,
opinion, religion and conscience, word, and peaceful association of
the individual.

o Articles 2227 sanctioned an individual's economic, social and
cultural rights, including healthcare. It upholds an expansive right to
a standard of living, provides for additional accommodations in case
of physical debilitation or disability, and makes special mention of
care given to those in motherhood or childhood.

e Articles 28-30 established the general means of exercising these
rights, the areas in which the rights of the individual cannot be
applied, the duty of the individual to society, and the prohibition of
the use of rights in contravention of the purposes of the United
Nations Organization.

e The Preamble of the constitution mentions about liberty, equality,
fraternity, justice - social, economic, political and many such things
which overlap with the 1948 declaration as seen 1n Articles 1-2, 18-
21, etc.

e Similarly, the 1948 declaration thus talks of not just political rights
but also of social and economic rights especially under Articles 22-
217.

e In case of Indian constitution, these socio-economic rights are
provided in the Directive Principles of state policy.

e Lastly, the declaration talks of not just rights but also duties of
individual towards the society as seen in the Articles 28-30.

Therefore, all the three parts reflect the spirit of the declaration.
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Therefore the correct answer is (d).
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33. With reference to the Indian economy, consider the following

statements:

1. 'Commercial Paper' is a short-term unsecured promissory note.

2. 'Certificate of Deposit' is a long-term instrument issued by the
Reserve Bank of India to a corporation.

3. 'Call Money' is short-term finance used for interbank

transactions.
4. 'Zero-Coupon Bonds' are the interest-bearing short-term bonds

issued by the Scheduled Commercial Banks to corporations.

Which of the statements given above is/are correct?

A 1 and 2 only

B 4 only

C 1 and 3 only

D 2 and 4

Solution

e Commercial paper is a commonly used type of unsecured, short-
term debt instrument 1ssued by corporations, typically used for the
financing of payroll, accounts payable and inventories, and meeting

other short-term liabilities.
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e Maturities on commercial paper typically last several days, and
rarely range longer than 270 days. So statement 1 is correct.

e The Certificate of Deposit (CD) 1s an agreement between the
depositor and the bank where a predetermined amount of money 1s
fixed for a specific time period.

e Itis issued by the Federal Deposit Insurance Corporation (FDIC)
and regulated by the Reserve Bank of India, the CD is a promissory
note, the interest on which is paid by the bank.

e (CDs are short-term debt instruments issued by Banks. So statement
2 is not correct.

e Call Money 1s short term finance used for inter-bank transactions.

e [t has a maturity period of one day to fifteen days.

e Call money is a facility under which banks borrow money from each
other to adjust short-term liquidity imbalances at rate of interest
known as Call Rate.

e This rate keeps on changing from day to day and sometimes from
hour to hour. So statement 3 is correct.

e A zero-coupon bond is a debt security that does not pay interest but
instead trades at a deep discount, rendering a profit at maturity,
when the bond is redeemed for its full face value.

e These bonds have been traditionally issued by government, but
banks are also allowed to i1ssue them since last few years. But ZCBs

are generally Long-Term Bonds. So statement 4 is not correct.

Therefore, the correct answer is (¢).
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34. Indigo cultivation in India declined by the beginning of the 20th

century because of

peasant resistance to the oppressive conduct of planters

its unprofitability in the world market because of new inventions

national leaders' opposition to the cultivation of indigo

Government control over the planters

Solution

Because of its high value as a trading commodity, indigo was often
referred to as blue gold.

It has been the foundation of textile export from India for centuries.
As 1ts demand increased during the industrialization in Britain (as it
was most suitable for cotton and also required for navy uniforms),
its production also increased and so did the oppression by white

planters.

Although peasant resistance (Eg Indigo revolt) led to reduction in

planters’ oppression.

However, indigo plantation moved away from Bengal and into
Bihar. That is where the Champaran satyagraha took place during

Gandhian era.
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e However, it was in reality its unprofitability in the world market
because of new inventions that led to reduction 1n its production.

e These inventions took place in Germany where the foundation of
Industrial revolution was not the mechanization of process but the
invention of scientific techniques like modern synthetic chemistry.

e By the late 19th century nearly all indigo came from indigo bush
plantations in India.

e The German chemist Adolf Baeyer succeeded in making it in the
laboratory in 1878, but it took nearly three decades to find a method
of making synthetic indigo on a large scale.

e The breakthrough came in 1890 when Karl Heumann in Zurich
found a way of making indigo from aniline.

e A lucky accident at the German firm BASF involving a broken
thermometer then revealed that mercury was a catalyst for a key part
of the synthesis and BASF started the production of synthetic indigo
in 1897. Johannes Pfleger then discovered a better route to synthetic

indigo which was used by BASF’s competitor Hoechst.

Therefore, the correct answer is (b).
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35. In the context of Indian history, the Rakhmabai case of 1884 revolved

around
1. women's right to gain an education.
2. age of consent.
3. restitution of conjugal rights.

Select the correct answer using the code given below:

A 1 and 2 only

B 2 and 3 only

C 1 and 3 only

D 1,2 and 3

Solution

The correct answer is 2 and 3 only.

e Rukhmabai (1864-1955) was the first practising female doctor in
colonial India. She was involved in the legal case that contributed to

the enactment of the Age of Consent Act, 1891.

e Story of her marriage-
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o She was married off at the young age of eleven, while her
husband- Dadaji Bhikaji was nineteen years old.

o But the partners never lived together.

o Dadaj1 Bhikaji did not mind living separately but later got in
touch with her when she inherited money after passing away
of her mother.

o She refused to go and continued to live with her step-father
and pursued her education which was not the norm of society
at that time. Bhikaji sent a legal notice to her stepfather
through his lawyers in March 1884, asking him to send
Rukhmabai to his house.

o Bhikaji sought “restitution of conjugal rights” after 12 years
of marriage in 1885. Hence statement 3 is correct.

o Rukhmabai had refused to live with the man she was married
to as a child and she did not know better at that time. Hence
statement 2 is correct.

o British law was meant to be applied in the case of consenting
adults only. Subsequently, after numerous hearings, the
marriage of Bhikaji and Rukhmabai was affirmed because of
the societal pressure at that time.

o Rukhmabai wrote a letter to Queen Victoria and the Queen
overruled the court’s verdict and dissolved the marriage.

e Rukhmabai's case did not involve women's right to education.

Hence statement 1 is not correct.
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36. Gold Tranche (Reserve Tranche) refer to\(\textit{---—------ )

A Aloan system of the world bank

B One of the operations of a central bank

C A credit system granted by WTO to its members

D A credit system granted by IMF to its members

Solution

The IMF 1s funded through its members and their quota contributions. The
reserve tranche 1s basically an emergency account that IMF members can
access at any time without agreeing to conditions or paying a service fee.
In other words, a portion of a member country’s quota can be withdrawn

free of charge at its own discretion.

e The reserve tranche is a segment of an International Monetary Fund
member country’s quota that 1s accessible without fees or economic
reform conditions

e Initially, member nations’ reserve tranches are 25% of their quota,
but this position can change according to any lending that the IMF
does with 1ts holdings of the member’s currency.

e The reserve tranches that countries hold with the IMF are considered

their facilities of first resort, meaning they will tap into them before
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seeking a formal credit tranche that charges interest. Therefore the

correct answer 1s (d). In short,
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37. If the RBI decides to adopt an expansionist monetary policy, which of

the following would it not do?

1. Cut and optimise the Statutory Liquidity Ratio
2. Increase the Marginal Standing Facility Rate
3. Cut the Bank Rate and Repo Rate

Select the correct answer using the codes given below.

A 1 and 2

B 2 only

C 1 and 3

D 1,2 and 3
Solution

e Expansionary monetary policy involves cutting interest rates or
increasing the money supply to boost economic activity. An increase
in the SLR constricts the ability of the bank to inject money into the
economy which affects growth. Thus, statement (1) is not correct.

e The MSF or Marginal Standing Facility (MSF) Rate 1s the rate at
which RBI lends funds overnight to scheduled banks, against
government securities. RBI has introduced this borrowing scheme to

regulate short-term asset liability mismatch in a more effective

https://streamline.entri.app/#/questioncollections/61240/print/?statement=enabled&options=enabled&answerKey=enabled&solutions=enabled&activeLanguage=en 66/187



1/20/25, 12:52 PM Entri | Entri Content Platform

manner. MSF basically provides a greater liquidity cushion. Higher
the MSF rate, more expensive 1s borrowing for banks, as well as
corporate borrowers and individuals. It is used by RBI to control the
money supply in the country’s financial system. Thus, statement
(2) is correct.

e The repo rate 1s the rate at which the Reserve Bank of India lends
money to commercial banks in order to help these lenders meet their
short-term liquidity needs. If the repo rate is low, banks are required
to pay lower interest amount towards loans. This impacts the loans
taken by customers, who can also avail loans at lower interest rates.
This boosts economic activity.

e The rate of interest charged by the central bank on the loans they
have extended to commercial banks and other financial institutions
is called “Bank Rate”. When Bank Rate 1s increased by RBI, bank’s
borrowing costs increases which in return, reduces the supply of

money in the market. Thus, statement (3) is not correct.
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38. With reference to the scholars/literateurs of ancient India, consider

the following statements:
1. Panini is associated with Pushyamitra Shunga.
2. Amarasimha is associated with Harshavardhana.
3. Kalidasa is associated with Chandra Gupta - II.

Which of the statements given above is/are correct?

A 1 and 2 only

B 2 and 3 only

C 3 only
D 1,2 and 3
Solution

Panini was a Sanskrit grammarian who gave a comprehensive and
scientific theory of phonetics, phonology, and morphology. Sanskrit was
the classical literary language of the Indian Hindus and Panini 1s
considered the founder of the language and literature. Panin1 was born in
Shalatula, a town near to Attock on the Indus. The dates given for Panini
are pure guesses. Experts give dates in the 4th, 5th, 6th and 7th century BC
and there 1s also no agreement among historians. However, all these

guesses are pre-Mauryan while Pushyamitra Shunga is a post-Mauryan
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king. Thus, statement (1) is not correct. Amarasimha was one of the
navaratnas of Gupta era. His book Amarkosh 1s a famous literary outcome
of the Gupta era. While Harshavardhana is a post-Gupta king. Thus,
statement (2) is not correct. Although Kalidasa’s dates are also disputed by
historians, according to tradition, he belonged to the court of Chandra
Gupta Vikramaditya who 1s identified as Changra Gupta II. Thus,
statement (3) 1s correct. Therefore, the correct answer 1s (c). Therefore, the

correct answer 1s (c).
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39. Steel slag can be the material for which of the following?

1. Construction of base road
2. Improvement of agricultural soil

3. Production of cement

Select the correct answer using the code given below:

A 1 and 2

B 1 and 3

C 2 and 3

D 1,2 and 3
Solution

e Steel slag, a by-product of steel making, 1s produced during the
separation of the molten steel from impurities in steel-making
furnaces.

e One of the ingredients of asphalt is steel slag, a by-product of the
steel and iron production processes.

e Asphalt roads are made of a mixture of aggregates, binders, and
fillers.

e The aggregates are typically iron or steel slag, sand, gravel, mixed

with asphalt that produces bitumen.
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e The bitumen, produced by the refineries, plays an important role in
road construction. Hence, statement 1 1s correct.

e Steel slags can be used in several activities, such as construction and
paving, and also in the agricultural sector

e Steel slag has the ability to correct soil acidity, as it contains some
nutrients for the plants and also as silicate fertilizer that 1s capable of
providing silicon to the plants. Hence, statement 2 is correct.

e Steel slag, another waste from the Iron & Steel Industry, has shown
potential for use as a raw mix component up to 10% in the
manufacture of cement clinker.

e Steel slag can also replace granulated blast furnace slag up to 10% 1n
the manufacture of Portland Slag Cement.

e Steel slag has been used successfully to treat acidic water discharges

from abandoned mines. Hence, statement 3 is correct
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40. if a particular planet species is placed under schedule 6 of the
Wildlife Protection Act 1972 what is the implication ?

A A licence is required to cultivate that plant

B Such a plant cannot be cultivated under any circumstances

C It 1s a gentically modified crop plant

D Such a plant is invasive and harmful to the ecosystem

Solution

e The specified endemic plants in Schedule VI are prohibited from
cultivation and planting. The hunting to the Enforcement authorities
have the power to compound offences under this Schedule (i.e. they
impose fines on the offenders).

e The Wild Life (Protection) Act, 1972 Enacted 9 September 1972.

e The Government of India implemented the Wildlife Protection Act
of 1972 with the purpose of efficiently protecting the wildlife of this
country and further controlling hunting, smuggling and illegal trade

in wild animals and their derivatives.
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41. Consider the following statements:

1. The weightage of food in Consumer Price Index (CPI) is higher

than that in Wholesale Price Index (WPI).

2. The WPI does not capture changes in the prices of services,

which CPI does.

3. Reserve Bank of India has now adopted WPI as its key measure

of inflation and to decide on changing the key policy rates.

Which of the statements given above is/are correct?

1 and 2 only

2 only

3 only

1,2 and 3

Solution

e Statement 1 1s correct: In CPI Food group has higher weight of food

and beverages which accounts 45.86 per cent (with food at 39.06 per
cent, prepared meals at 5.55 per cent and non-alcoholic beverages at
1.26 per cent) as compared to the combined weight of 24.4 per cent
(Food articles and Manufactured Food products) in WPI basket.
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e CPI basket consists of services like housing, education, medical

care, recreation etc. which are not part of WPI basket.

e Statement 2 1s correct: CPI covers goods and services items while
WPI covers goods only.

e Statement 3 1s not correct: Reserve Bank of India has adopted CPI (
NOT WPI) as its key measure of inflation and to decide on changing
the key policy rates.
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42. With reference to the religious history of India, consider the following

statements:
1. Sthaviravadins belong to Mahayana Buddhism.

2. Lokottaravadin sect was an offshoot of Mahasanghika sect of
Buddhism.

3. The deification of Buddha by Mahasanghikas fostered the
Mahayana Buddhism.

Which of the statements given above is/are correct ?

A 1 and 2 only

B 2 and 3 only

C 3 only
D 1,2 and 3
Solution

e Sthaviravadins belong to Theravada. Hence Statement 1 is Not
Correct.

e The Lokottaravada was one of the early Buddhist schools
according to Mahayana doxological sources compiled by Bhaviveka,
Vinitadeva and others, and was a subgroup that emerged from the

Mahasanghika sect of Buddhism. Hence Statement 2 is Correct.
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e The Mahasanghikas believed in a plurality of buddhas who are
supramundane (lokottara) and held that what passed for Gautama
Buddha 1n his earthly existence was only an apparition.

e They patronized Mahayana Buddhism. Hence Statement 3 is

Correct.
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43. With reference to the history of India, consider the following pairs:

Famous Place Present State

1. Bhilsa Madhya Pradesh
2. Dwarasamudra Maharashtra

3. Girnagar Gujarat

4. Sthanesvara Uttar Pradesh

Which of the pairs given above are correctly matched?

A 1 and 3 only

B 1 and 4 only

C 2 and 3 only

D 2 and 4 only

Solution

e Vidisha (formerly known as Bhilsa) 1s a city in the state of Madhya
Pradesh, India. It 1s a an archaeologically important site known for
inscriptions regarding the ancient history of India. As a general of
Sultan Jalaluddin, Alauddin Khalji raided the Paramara city of
Bhilsa in 1293 CE. Hence, pair 1 is correctly matched.
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e Halebidu (which used to be called Dwarasamudra) was the regal
capital of the Hoysala Empire 1in the 12th century. It 1s located in
Hassan District of Karnataka. In late 1310, the Delh1 Sultanate ruler
Alauddin Khalj1 sent his general Malik Kafur on an expedition to the
southernmost regions of India. In 1311, Malik Kafur besieged the
Hoysala capital Dwarasamudra, and the defending ruler Veera
Ballala III surrendered without much resistance. Hence, pair 2 is
not correctly matched.

e Girnar or Girinagar is a group of mountains in the Junagadh District
of Gujarat. This place 1s sacred to the Jains because it is the place
where Lord Niminatha (22nd Jain Tirtankar) went to attain salvation.
It 1s also known for Ashoka's Major Rock Edicts XIV, dating to circa
250 BCE. Hence, pair 3 is correctly matched.

e Sthanesvara site 1s located at modern-day Thanesar in Kurukshetra
district of Haryana. It is a historic town and an important Hindu
pilgrimage centre on the banks of the Saraswati River. It was also
sacked and many of its temples were destroyed by Mahmud of

Ghazni. Hence, pair 4 is not correctly matched.

Therefore, the correct answer is (a).
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44. With reference to the Indian economy after the 1991 economic

liberalization, consider the following statements:

1. Worker productivity (Rs. per worker at 2004-05 prices)

increased in urban areas while it decreased in rural areas.

2. The percentage share of rural areas in the workforce steadily

increased.
3. In rural areas, the growth in the non-farm economy increased.
4. The growth rate in rural employment decreased.

Which of the statements given above is/are correct?

A 1 and 2 only

B 3 and 4 only

C 3 only

D 1,2 and 4 only

Solution

e As per NITI Ayog's report, worker productivity has increased for
both rural and urban areas.

e (Consider the data shown below-For rural areas it was Rs. 37273 in

2004 -05 and Rs. 101755 1n 2011 -12, while for urban areas it was

https://streamline.entri.app/#/questioncollections/61240/print/?statement=enabled&options=enabled&answerKey=enabled&solutions=enabled&activeLanguage=en 79/187



1/20/25, 12:52 PM Entri | Entri Content Platform

Rs. 120419 in 2004 -05 and Rs. 282515 in 2011 -12. Hence
statement 1 1s incorrect.

e Steady transition to urbanization over the years has led to a decline
in the rural share in the workforce, from 77.8% 1n 1993 -94 to 70.9%

in 2011 -12. Hence statement 2 1s incorrect.
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45. Consider the following statements:

1. The Constitution of India defines its ‘basic structure’ in termsof
federalism, secularism, fundamental rights and democracy.

2. The Constitution of India provides for ‘judicial review’ to
safeguard the ‘citizens’ liberties and to preserve the ideals on

which the constitution is based.

Which of the statements given above is/are correct?

A Only 1

B Only 2

C Both 1 and 2

D Neither 1 nor 2

Solution

e The Constitution of India provides for ‘judicial review’ to safeguard
the ‘citizens’ liberties and to preserve the ideals on which the
constitution 1s based.

e Judicial Review 1s governed by the principle of “Procedure
established by law” as given in Article 21 of the Indian Constitution.
The law has to pass the test of constitutionality if it qualifies 1t can
be made a law. On the contrary, the court can declare it null and

void.
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e The term 'judicial review' is not mentioned in the Constitution.This
doctrine was laid down by the Supreme Court in the landmark

Keshavnand Bharati

case. And even the Supreme Court is yet to define or clarify what all
constitutes basic features, and the doctrine therefore, remains open ended.

Hence, statement 1 1s not correct
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46. In India, legal service authorities provide free legal services to which

of the following type of citizens?

1. Person with an annual income of less than Rs 1,00,000
2. Transgender with an annual income of less than Rs2,00,000

3. Member of other backward classes(OBC) with an annual
income of less than Rs 3,00,000
4. All senior citizens

Select the correct answer using the given code below-

A 1 and 2 only

B 2 and 3 only

C 1 and 4 only

D 1,2,3 and 4

Solution

The sections of the society as enlisted under Section 12 of the Legal

Services Authorities Act are entitled for free legal services, they are :

1. A member of a Scheduled Caste or Scheduled Tribe;

2. A victim of trafficking in human beings or begar as referred to in
Article 23 of the Constitution;

3. A woman or a child;
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4. A mentally 1ll or otherwise disabled person

5. A person under circumstances of undeserved want such as being a
victim of a mass disaster, ethnic violence, caste atrocity, flood,
drought, earthquake or industrial disaster; or

6. An industrial workman.

7. In custody, including custody in a protective home within the
meaning of clause (g) of Section 2 of the Immoral Traffic
(Prevention) Act, 1956(104 of 1956); or in a juvenile home within
the meaning of clause(j) of Section 2 of the Juvenile Justice Act,
1986 (53 of 1986); or 1n a psychiatric hospital or psychiatric nursing
home within the meaning of clause (g) of Section 2 of the Mental
Health Act, 1987(14 of 1987).

8. a person in receipt of annual income less than the amount mentioned
in the following schedule (or any other higher amount as may be
prescribed by the State Government), if the case is before a Court
other than the Supreme Court, and less than Rs 5 Lakh, if the case is
before the Supreme Court.

9. Senior citizens’ eligibility for free legal aid depends on the Rules
framed by the respectiveState Governments in this regard. In Delhi
for example, senior citizens are eligible for freelegal aid subject to
prescribed ceiling of annual income. Therefore, all senior citizens
are noteligible for free aid. Therefore, statement 4 1s not correct.

10. There 1s free aid to members of SC and ST community but not for
OBCs. Hence statement3 1s not correct. There is provision for free
legal aid to transgenders upto 2 lakhs in Delhi. (But it is yet to be

implemented at an all India level)
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47. Along with the budget, the Finance Minister also places other
documents before the parliament which include “The Macro
Economic Framework Statement” The aforesaid document is

presented because this mandated by :

A Long standing parliamentary convention

B Article 112 and article 110(1) of the constitution of India

C Article 114 of the Constitution of India

D

Provisions of the Fiscal Responsibility and Budget Management act, 2003

\. J

Solution

e The Macro-economic Framework Statement 1s a statement presented
to the Parliament at the time of Union Budget under Section 3(5) of
the Fiscal Responsibility and Budget Management Act, 2003.

e In the year 2016, the NK Singh committee was set up by the
government to review the FRBM Act.

e The task was to review the performance of the FRBM Act and
suggest the necessary changes to the provisions of the act.

e Theobjective of the Act 1s to ensure inter-generational equity in
fiscal management, long runmacroeconomic stability, better
coordination between fiscal and monetary policy, and transparency

in fiscal operation of the Government.
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e FRBM Act provides a legal institutional framework for fiscal
consolidation. The Act also requires the government to lay before
the parliament three policy statements in each financial year namely,
a. Medium Term Fiscal Policy Statement;,b. Fiscal Policy Strategy

Statement and ¢. Macroeconomic Framework Policy Statement.
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48. Which of the following factors/policies were affecting the price of rice

in India in the recent past?

1. Minimum Support Price
2. Government’s trading
3. Government’s stockpiling

4. Consumer subsidies

Select the correct answer using the code given below:

A 1,2 and 4 only

B 2,3 and 4 only

C 1,3 and 4 only

D 1,2,3 and 4

Solution

The correct answeris 1 2 3 and 4.

e The domestic factors which affect prices of rice in India are as
follows-
o The mtensity of seasonal monsoon across India and
production of Basmati and non-basmati rice.

o The ratio of full and broken kernels in milling the paddy.
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o The government's trading and Minimum support price of rice-
it results 1n the diversion of stocks from the open market
hence driving up the price for the ultimate consumers. Hence
1 is correct.

o Rice tenders by Food Corporation of India and other
organizations Consumer subsidies ( it lowers the prices for the
ultimate consumer) Hence 3 is correct.

o The government's stockpiling (low stock levels constraint that
ability to buffer the price rise) Hence 4 is correct.

o Climatic shocks determine rice production and prices in the

short run due to increasing demand. Hence 2 is correct.
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49. Consider the following statements:

1. In the case of all cereals, pulses and oil-seeds, the procurement
at Minimum Support Prices (MSP) is unlimited in any State/UT

of India.

2. In the case of cereals and pulses, the MSP is fixed in any

State/UT at a level to which the market price will never rise.

Which of the statements given above is/are correct?

A 1 only

B 2 only

C Both 1 and 2

D None of the above

Solution

e The procurement of o1l seeds, pulses and cereals 1s not unlimited.

e Under PM-AASHA guidelines limit the procurement to 25% of
pulses and oil seeds production at MSP. So, statement 1 is not
correct.

e Market price, by definition, 1s determined through demand and
supply force.

e So, it is difficult to predict whether market price for any crop must

be lower or higher as compared to MSP. So, statement 2 is also not
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correct.

Therefore, the correct answer is (d).
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50. With the present state of development, Artificial Intelligence can

effectively do which of the following?

1. Bring down electricity consumption in industrial units.
2. Create meaningful short stories and songs.

3. Disease diagnosis.

4. Text-to-Speech Conversion.

5. Wireless transmission of electrical energy.

Choose the correct option:

A 1,2,3 and 5 only

B 1, 3 and 4 only

C 2,4 and 5 only

D 1,2,3,4and 5

Solution

e Efficiencies in the industrial sector in particular can be achieved in
the following ways:

e Forecasting energy demand and managing the output accordingly.

e This can help to reduce reliance on fuel, or manage its consumption,
thereby also reducing emissions. Hence, 1 is correct.

e Artificial intelligence and music have long been intertwined. Alan

Turing, the godfather of computer science, built a machine as early
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as 1951 that generated three simple melodies.

e Al 1n the present stage 1s also capable of writing meaning short
stories. Sunspring or It's No Game released in 2016 and 2017
respectively, these short films' screenplays were written by
Benjamin, a self-named system-on-chip running a long short term
memory (LSTM) recurrent neural network.

e The idea of filmmaker Oscar Sharp, the process behind Sunspring
was a relatively simple one of imitation; feed a text-recognition
engine a load of sci-fi movie scripts — including Interstellar and The
Fifth Element — and allow it to dissect them until it could predict the
words and phrases that most often appear together.

e The resulting neural network then wrote a screenplay, and even the
lyrics to the theme song using a database of 30,000 folk songs.
Hence, 2 is correct

e A study published by The Lancet Digital Health compared the
performance of deep learning—a form of artificial intelligence (Al)
—1n detecting diseases from medical imaging versus that of
healthcare professionals, using a sample of studies carried out
between 2012 and 2019.The study found that, in the past few years,
Al has become more accurate of identifying disease diagnosis in
these images and has become a more viable source of diagnostic
information. Hence, 3 is correct

e Language processing is another area of their services where the tech
has been implemented.

e Google Assistant speech recognition Al uses deep neural networks
to learn how to better understand spoken commands and questions
as well as for text-to-speech conversion. Hence, 4 is correct.

e In wireless power transfer, in order to efficiently charge the power

receivers, online prediction of the receiver positions is necessary,
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and for this purpose Al is used. The prediction accuracy of Al 1s

very high. Hence, 5 is correct.

Therefore, the correct answer is (d).
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51. Consider the following statements:

1. Aadhaar metadata cannot be stored for more than three
months.

2. State cannot enter into any contract with private corporations
for sharing of Aadhaar data.

3. Aadhaar is mandatory for obtaining insurance products.

4. Aadhaar is mandatory for getting benefits funded out of the
Consolidated Fund of India.

Which of the satements given above is/are correct?

A 1 and 4

B 2 and 4

C 3 only

D 1,2 and 3
Solution

e Recently the Supreme Court has said that the Aadhaar authentication
data can't be retained beyond 6 months. Hence Statement 1 1s Not
Correct.

e Statement 2 1s correct: The Supreme Court struck down part of
section 57 which allowed providing private corporations to verify

Aadhaar data as unconstitutional.
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e Statement 3 is incorrect: The same 2018 judgement also held
making that Aadhaar mandatory for other services apart from
welfare schemes as unconstitutional. Subsequently, IRDAI issued an
advisory in January 2019 that clarified that Aadhaar 1s not
mandatory for obtaining insurance.

e Statement 4 1s correct: The Supreme court in the Aadhaar verdict
had defined the welfare schemes as those funded from the
consolidated fund of India. And it upheld the validity of Section 7 of
the Aadhaar Act which states that Central or State Governments can
make possession of an Aadhaar number or Aadhaar authentication

mandatory for receipt of subsidies, benefits or services funded out of

the Consolidated Fund of India.
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52. With reference to the funds under Members of Parliament Local
Area Development Scheme (MPLADS), which of the following

statements are correct?

1. MPLADS funds must be used to create durable assets like
physical infrastructure for health, education, etc.

2. A specified portion of each MP’s ‘fund must benefit SC/ST
populations.

3. MPLADS funds are sanctioned on yearly basis and the unused
funds cannot be carried forward to the next year

4. The district authority must inspect at least 10% of all works

under implementation every year

Select the correct answer using the codes given below.

A 1 and 2 only

B 3 and 4 only

C 1,2 and 3 only

D 1,2 and 4 only

Solution

Following are the features of MPLAD scheme:

e All works to meet locally felt infrastructure and development needs,

with an emphasis on creation of durable assets in the constituency
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are permissible under MPLADS except those prohibited in
Annexure-II of the guidelines of MPLAD. Therefore statement 1 is
correct.

e Development of Areas inhabited by Scheduled Caste and Scheduled
Tribe: M.Ps are to recommend every year, works costing at least 15
per cent of the MPLADS entitlement for the year for areas inhabited
by Scheduled Caste population and 7.5 per cent for areas inhabited
by S.T. population.

e In other words, out of an amount of Rs.5 crores, a M.P. shall
recommend for areas inhabited by S.C. population, Rs.75 lacs and
Rs.37.5 lacs for areas inhabited by S.T. population.

e In case there 1s insufficient tribal population in the area of Lok
Sabha Member, they may recommend this amount for the creation of
community assets in tribal areas outside of their constituency but
within their State of election.

e In case a State does not have S.T. inhabited areas, this amount may
be utilized in S.C. Therefore, statement 2 is correct

e MPLADS Funds are Non-lapsable: Funds released to the District
Authority by the Government of India are non-lapsable. Funds left
in the district can be carried forward for utilization in the subsequent
years. Therefore, statement 3 is not correct.

e Role of the District Authority: The District Authority’s role has been
outlined in different paragraphs of the MPLAD Guidelines.

e The District Authority would be responsible for overall coordination
and supervision of the works under the scheme at the district level
and inspect at least 10% of the works under implementation every

year. Therefore, statement 4 is correct.

Therefore the correct answer is (d).
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53. The Preamble to the Constitution of India is

A a part of the Constitution but has no legal effect

B not a part of the Constitution and has no legal effect either

C  part of the Constitution and has the same legal effect as any other part

\.

D

a part of the Constitution but has no legal effect independently of other parts

J

Solution

e In the Kesavanada Bharati Case (1973), the Supreme Court said
that the Preamble is part of the Constitution.
e The Preamble sets out the aims and aspirations of the people and

these have been embodied in various provisions of the constitution.

e [t certainly does not have a legal effect independently since it cannot

be enforced in a court of law. Hence Option 4 is Correct.
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54. . Consider the following statements:

1. According to the Constitution of India, a person who is eligible
to vote can be made a minister in a State for six months even if
he/she is not a member of the Legislature of that State.

2. According to the Representation of People Act, 1951, a person
convicted of a criminal offence and sentenced to imprisonment
for five years is permanently disqualified from contesting an
election even after his release from prison. Which of the

statements given above is/are correct?

A 1 only

B 2only

C Both 1 and 2

D Neither 1 nor 2

Solution

The Constitution lays down only the following four qualifications for a
person to be chosen a member of the state legislature. [J He must be a
citizen of India. [] He must make and subscribe to an oath or affirmation
before the person authorised by the Election Commission for this purpose.
In his oath or affirmation, he swears [| To bear true faith and allegiance to

the Constitution of India [ To uphold the sovereignty and integrity of
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India [J He must be not less than 30 years of age in the case of the
legislative council and not less than 25 years of age in the case of the
legislative assembly. [1 He must possess other qualifications prescribed by
Parliament. Therefore statement 1 1s not correct According to the
Representation of People Act, 1951 A person convicted of any offence and
sentenced to imprisonment for not less than two years shall be disqualified
from the date of such conviction and shall continue to be disqualified for a
further period of six years since his release. Hence, statement 2 is not

correct Therefore the correct answer 1s (d).
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55. . Consider the following statements:

1. The President of India can summon a session of the Parliament
at such place as he/she thinks fit.

2. The Constitution of India provides for three sessions of the
Parliament in a year, but it is not mandatory to conduct all
three sessions.

3. There is no minimum number of days of that the Parliament is

required to meet in a year.

Which of the statements given above is/are correct?

A 1 only

B 2 only

C 1 and 3 only

D 2 and 3 only

Solution

e Article 85(1) of the Constitution empowers the President to summon
cach House of Parliament to meet at such time and place as he
thinks fit, but six months shall not intervene between its last sitting
in one Session and the date appointed for its first sitting in the next

Session.
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e So, the Constitution provides for the maximum gap between two
sessions of Parliament, 1.e. it cannot be more than six months. In
other words, the Parliament should meet at least twice a year.

e Therefore the constitution prescribes a maximum gap but there 1s no
minimum gap.

e So, statement 1 and 3 are correct, and 2 1s not correct.

e Therefore the correct answer is (¢).
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56. With reference to the book "Desher Katha” written by Sakharam
Ganesh Deuskar during the freedom struggle, consider the following

statements:

1. It warned against the Colonial State's hypnotic conquest of the
mind.

2. It inspired the performance of swadeshi street plays and folk
songs.

3. The use of 'desh' by Deuskar was in the specific context of the

region of Bengal.

Which of the statements given above are correct?

A 1 and 2 only

B 2 and 3 only

C 1 and 3 only

D 1,2 and 3

Solution

Sakharam Ganesh Deuskar (1869-1912)-

e He was a close associate of Sri1 Aurobindo.

e He studied in the Deoghar School and later became a teacher there.
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e He published a book named 'Desher Katha' and described the British
commercial and industrial exploitation of India in exhaustive detail.
e Desher Katha Book-

o This book was first published in June 1904 and ten thousand
copies were wold in just four editions within the year.

o It had an immense effect on young minds during the Swadeshi
Movement.

o It also informed people about swadeshi street plays and folk
songs and had assumed the status of mandatory reading for an
entire generation of swadeshi activists. Hence statement 2 is
correct.

o The fifth edition came out in 1905. However, the government
of Bengal banned the book in 1910 and confiscated all the

copies.

The book included how the British ruthlessly exploited India,

commercially and industrially, in the course of their rule.

It also summarized the work of M. G. Ranade and D. Naoroji in a
popular idiom and warned in its concluding chapter against the
colonial state’s “hypnotic conquest of the mind.” Hence statement 1
is correct.

e Sakharam Deuskar was the first person to bring the name of Swaraj,
and Sr1 Aurobindo was the first to relate it with its English
equivalent, 'Independence.' Hence statement 3 is not correct.

e Deuskar used desh to mean nation. The overlap of the place of origin
and nation, as well as jati (literally birth, family, or caste) and
nationality, inflected understandings of the nation/country in distinct
ways.

e Moreover, the constant overlap and conflation of Bengal and India,

and Bengalis and Indians in the use of desh and jati, added further

twists to notions of nationalism.
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57. The Gandhi-Irwin Pact included which of the following?

1. Invitation to Congress to participate in the Round Table
Conference

2. Withdrawal of Ordinances promulgated in connection with the
Civil Disobedience Movement

3. Acceptance of Gandhiji's suggestion for enquiry into police
excesses

4. Release of only those prisoners who were not charged with

violence

Select the correct answer using the code given below:

A 1 only

B 1,2 and 4 only

C 3 only

D 2,3 and 4 only

Solution

The 'Gandhi - Irwin Pact' was a political agreement signed by Mahatma
Gandhi and Lord Irwin, Viceroy of India, on 5 March 1931 before the

second Round Table Conference in London. Proposed conditions:

* Discontinuation of Salt March by the Indian National Congress
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* Participation by the Indian National Congress in the Second Round Table

Conference

» Withdrawal of all ordinances issued by the Government of India

imposing curbs on the activities of the Indian National Congress

» Withdrawal of all prosecutions relating to several types of offenses

except those involving violence
 Release of prisoners arrested for participating in the Salt March.

* Removal of the tax on salt, which allowed the Indians to produce, trade,

and sell salt legally and for their own private use

Finally, the Government agreed to:

« Withdraw all ordinances and end prosecutions

 Release all political prisoners, except those guilty of violence
* Permit peaceful picketing of liquor and foreign cloth shops
 Restore confiscated properties of the satyagrahis

* Permit free collection or manufacture of salt by persons near the sea-

coast
e Lift the ban over the Congress.

Therefore, the correct answer is (b).
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58. With reference to the history of India, the terms '"'kulyavapa" and

"dronavapa'" denote

A measurement of land

B coins of different monetary value

C classification of urban land religious rituals

D  religious rituals

Solution

Texts and inscriptions during Gupta period mention various land measure

terms
* The angula (probably % inch) was the smallest measure.

 The hasta (cubit) was the standardized distance between the tip of the
elbow and the middle finger (18 inches).

 Larger units of measure included the dhanu/danda and nala.

The land measures used 1n eastern India included the adhavapa (3/8—1/2
acre), dronavapa (1'2-2 acres), and kulyavapa (12—16 acres). These were
the areas required to sow one adhaka, drona, and kulya of grain
respectively. Pataka was another land measure, and seems to have been

equivalent to 60—80 acres. Other terms included pravartavapa (this was
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much smaller than a kulyavapa), padavarta (over 1 ft), and bhumi. The
large number of land measure terms indicate that there was no single
standard set of measurement and that different measures were current in

different regions. Therefore, the correct answer 1s (a).
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59. Wellesley established the Fort William College at Calcutta because

A he was asked by the Board of Directors at London to do so

B he wanted to revive interest in oriental learning in India

C he wanted to provide William Carey and his associates with employment

( )
D
he wanted to train British civilians for administrative purpose in India
\\ J
Solution

e Till the 1700s, the Company had paid little heed to training its
employees.

e The ‘Indiamen’, as they were called, were drawn from a small pool
of British families who were friends and relatives of those already
involved with the Company, and there was little focus on their
knowledge or abilities.

e By the 1800s, the British territories in India had expanded greatly
and there was an urgent need for a more thoroughly organised
administration. This required trained men who could not only
communicate in the local languages but also understand the country
and the people they were rapidly gaining control over.

e [t was to train these British officials that Fort William College was
established by Lord Richard Wellesley (Governor-General of Bengal
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from 1798 to 1805) in 1800. The college aimed to create civil
servants who were familiar with Indian languages, history, culture
and local laws.

e Alongside, they would also receive training in Western languages

and the art of administration. Therefore, the correct answer 1s (d).
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60. In the context of recent advances in human reproductive technology,

"Pronuclear Transfer" is used for

A fertilization of egg in vitro by the donor sperm

B genetic modification of sperm producing cells

C development of stem cells into functional embryos

D prevention of mitochondrial diseases in offspring

Solution

e Pronuclear transfer is a technique used in the context of
mitochondrial replacement therapy (MRT).

e Pronuclear transfer is designed to prevent the transmission of
mitochondrial diseases from mother to child.

e Mitochondrial diseases are a group of disorders caused by
dysfunctional mitochondria, the energy-producing structures within
cells.

e These diseases are maternally inherited because the mitochondria in

the offspring come exclusively from the mother’s egg.
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61. With reference to Visible Light Communication (VLC) technology,
which of the following statements are correct?

(1) VLC uses electromagnetic spectrum wavelengths 375 to 780 nm.
(2) VLC is known as long-range optical wireless communication.
(3) VLC can transmit large amounts of data faster than Bluetooth,
(4) VLC has no electromagnetic interference.

Select the correct using the code given below:

A 1,2 and 3 only

B 1,2 and 4 only

C 1,3 and 4 only

D 2,3 and 4 only

Solution

Visible Light Communication (VLC) systems employ visible light for
communication that occupy the spectrum from 380 nm to 750 nm. The
technology uses fluorescent lamps (ordinary lamps, not special
communications devices) to transmit signals at 10 kbit/s, or LEDs for up to
500 Mbit/s over short distances. The Visible Light Communication (VLC)

1s an emerging technology, which provides distinct facilities such as fast
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data communication, secure data communication, high data rate wireless
communication, .Instead of radio frequency, VLC uses light, to transfer
data. The visible light spectrum is unlicensed and 10,000 times larger than
the range of radio frequencies. It can be used as an alternate to the existing
radio based wireless communication technologies or in hybrid. Moreover,
Integrated VLC resolves issue of load balancing in existing wireless
networks. Light Fidelity is a recent technology under VLC, which can be
used for wireless communication as it has many advantages such as no
electromagnetic interference, low cost and high data rate, much higher

than traditional bluetooth. Therefore, the correct answer 1s (¢).
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62. With reference to carbon nanotubes, consider the following

statements:

(1) They can be used as carriers of drugs and antigens in the human
body.

(2) They can be made into artificial blood capillaries for an injured

part of human body.
(3) They can be used in biochemical sensors.
(4) Carbon nanotubes are biodegradable.

Which of the statements given above are correct?

A 1 and 2 only

B 2,3 and 4 only

C 1,3 and 4 only

D 1,2,3 and 4

Solution

e Carbon nanotubes are cylindrical molecules that consist of rolled-up
sheets of single-layer carbon atoms (graphene).
e There are single-walled nanotubes (with a diameter of less than 1

nanometer) and multi-walled nanotubes (with diameters reaching
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more than 100 nm).

e These are chemically bonded with sp2 bonds which is an extremely
strong form of molecular interaction.

e They develop ultra-high-strength and low-weight materials that
possess highly conductive electrical and thermal properties.

e Carbon nanotubes are promising drug delivery platforms that can be
functionalized with a variety of biomolecules, such as antibodies,
proteins, antigens, and DNA.

e Carbon nanotubes can easily penetrate cells and improve the
pharmacological and therapeutic profile, and efficacy of the drug.
Hence statement 1 is correct.

e Biotechnology facilitates the making of nanodevices using blood-
compatible nanomaterials as building blocks for biomedical
applications such as artificial implants including structural tissue
replacements, artificial blood vessels, or functional devices such as
drug delivery matrices.

e Using carbon nanotube as an artificial blood vessel can create blood
clotting, therefore it is unsafe. Hence statement 2 is not correct.

e NASA has successfully demonstrated a miniaturized electronics
technology with extremely high sensitivity for in-vitro detecting
specific biomarker signatures, which 1s based on incorporating
embedded vertically aligned carbon nanotubes as nanoelectrode
arrays in diagnostics devices. Hence statement 3 is correct.

e [t has been demonstrated that functionalised carbon nanotubes can
be degraded by oxidative enzymes. Multiple types of microbes
including bacteria and fungi have the ability to degrade carbon
nanotubes (CNTs), graphene (GRA), and their derivatives. Hence

statement 4 is correct.
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63. Consider the following activities:
(1) Spraying pesticides on a crop field
(2) Inspecting the craters of active volcanoes
(3) Collecting breath samples from spouting whales for DNA analysis

At the present level of technology, which of the above activities can be

successfully carried out by using drones?

A 1 and 2 only

B 2 and 3 only

C 1 and 3 only

D) 1,2and3

Solution

e Drones are already well known to spread pesticides and inspecting
volcanoes remotely. Hence statements 1 and 2 are true.

e Since 2015 Researchers at the Woods Hole Oceanographic Institute
in Cape Cod have begun using a helicopter-style drone to monitor
humpback whales off the coast, collecting breath samples from their
blowholes and taking aerial pictures.

e Getting a breath sample from a whale isn't the easiest task in the

world. But with the help of a hexacopter, scientists are getting the
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job done.

Therefore, the correct answer is (d).
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64. "The experiment will employ a trio of spacecraft flying in formation
in the shape of an equilateral triangle that has sides one million
kilometres long, with lasers shining between the craft.” The

experiment in question refers to

A Voyager-2

B New Horizons

C LISA Pathfinder

D Evolved LISA

Solution

The Evolved Laser Interferometer Space Antenna (eLISA), a mission
planned that uses three separate, but not independent, interferometers
installed 1n three spacecraft located at the corners of a triangle with sides
of some 5 million km (3 million miles). This mission is to be carried out
jointly by NASA and ESA.A mission to test the technology for eLISA,
LISA Pathfinder, was launched by ESA in 2015. This is stationed around
the L1 point between the Earth and the Sun which is nearly 1.5 million km
away from the Earth. The aim of the mission is to demonstrate the
technology needed to establish a space-based observatory to study

gravitational waves. Therefore, the correct answer 1s (d).
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65. Consider the following statements:

(1) Genetic changes can be introduced in the cells that produce eggs

or sperms of a prospective parent.

(2) A person's genome can be edited before birth at the early

embryonic stage.

(3) Human induced pluripotent stem cells can be injected into the

embryo of a pig.

Which of the statements given above is/are correct?

A 1 only

B 2 and 3 only

C 2 only
D 1,2 and 3
Solution

e Germline gene therapy
o Under this therapy, required DNA is transferred into the cells
that produce reproductive cells, eggs or sperm, in the body.
Hence statement 1 is correct.
o [t allows for the correction of disease-causing gene variants

that are certain to be passed down from generation to
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generation.
e Somatic cell gene therapy 1s when therapeutic genes are transferred
to a patient’s somatic cells.
e Any modification and any effects are restricted only to that patient

and are not inherited by future generations.
e Genome Editing

o It 1s a method that lets scientists change the DNA of many
organisms, including plants, bacteria, and animals.

o It can lead to changes in physical traits, like eye colour, and
disease risk.

o The genomic editing system is mostly injected into the
cytoplasm of zygotes or into pre-implantation embryos, after
which genetic screening 1s used to select the embryos with a
corrected genomic pattern in the absence of detectable off-
target genetic modifications.

o For the first-time disease gene-edited out of human embryo
was published in 2017.

o Scientists in the US have repaired a disease-causing mutation
in the DNA of early-stage human embryos and said that taking
a step closer to engineering babies free of inherited disorders.
Hence statement 2 is correct.

o Scientists are developing gene therapies - treatments involving
genome editing - to prevent and treat diseases in humans.

e Human-induced pluripotent stem cells

o They have been hailed as an effective replacement for human
embryonic stem cells and a prime candidate cell source for
regenerative medicine aims.

o The researchers tried combining human induced pluripotent

stem cells with pig embryos.
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o Many of the embryos were much smaller than normal and
seemed to grow more slowly.

o Hence, so far there has not been a success in growing human
organs 1n pigs.

o But this experiment shows that human-induced pluripotent
cells can be injected into pigs embryo. Hence statement 3 is

correct.
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66. . What is the importance of using Pneumococcal Conjugate Vaccines

in India?

(1) These vaccines are effective against pneumonia as well as

meningitis and sepsis.

(2) Dependence on antibiotics that are not effective against drug-

resistant bacteria can be reduced.
(3) These vaccines have no side effects and cause no allergic reactions.

Select the correct answer using the code given below:

A 1 only

B 1 and 2 only

C 3 only
D 1,2 and 3
Solution

Pneumococcus is a leading cause of bacterial pneumonia, meningitis and
sepsis in children. The burden of pneumococcal meningitis, is such that
itconstitutes about half of all childhood meningitis cases in most settings
and a greater proportion of meningitis deaths.The vaccine will protect

children against severe forms of pneumococcal disease, such as
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pneumonia, meningitis and sepsis. The vaccine also prevents antibiotic-
resistant pneumococcal infections caused by vaccine serotypes. Hence,

statements 1 and 2 are correct.

However, anyone who has ever had a life-threatening allergic reaction to a
dose of this vaccine, to an earlier pneumococcal vaccine should not get it.
Anyone with a severe allergy to any component of it should not get the
vaccine. With any medicine, including vaccines, there is a chance of side
effects. These are usually mild and go away on their own, but serious
reactions are also possible. Hence, statement 3 1s incorrect. Therefore, the

correct answer 1s (b).
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67. In India, the term ""Public Key Infrastructure" is used in the context
of

A Digital security infrastructure

B Food security infrastructure

C Health care and education infrastructure

D Telecommunication and transportation infrastructure

Solution

e Public Key Infrastructure (PKI) is a technology for authenticating
users and devices in the digital world.

e The basic idea is to have one or more trusted parties digitally sign
documents certifying that a particular cryptographic key belongs to a
particular user or device. The key can then be used as an identity for
the user in digital networks.

e PKI secures sensitive electronic information by using a two-key

encryption system as it is passed back and forth between two parties.
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68. Which of the following statements are correct regarding the general

difference between plant and animal cells?
(1) Plant cells have cellulose cell walls whilst animal cells do not.

(2) Plant cells do not have plasma membrane unlike animal cells
which do.

(3) Mature plant cell has one large vacuole vacuoles.

Select the correct answer using the code given below:

A 1 and 2 only

B 2 and 3 only

C 1 and 3 only

D 1,2 and 3
Solution
Characteristic Plant Cell Animal Cell
Cell wall Present Absent
Distinct edges, shape is .
. Round and irregular
Shape of cell either rectangular or square

shape
shaped
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Nucleus

Lysosomes

Plastids

Structure of

Vacuoles
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Plant Cell

Present. LLies on one side of

the cell
Rarely present
Present

Single or a few large
vacuole that is centrally

located

Animal Cell

Present. Lies in the

center of the cell

Always present

Absent

Presenceof numerous

and small vacuoles
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69. Which of the following are the reasons/factors for exposure to

benzene pollution?

(1) Automobile exhaust

(2) Tobacco smoke

(3) Wood burning

(4) Using varnished wooden furniture

(5) Using products made of polyurethane

Select the correct answer using the code given below:

A 1,2 and 3 only

B 2 and 4 only

C 1,3 and 4 only

D 1,2,3,4and S

Solution

e Areas of heavy traffic, gas stations, and areas near industrial sources
may also have higher air levels. Cigarette smoking and secondhand
smoke including wood burning are important sources of exposure to

benzene.
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e Cigarette smoke accounts for about half of the exposure to benzene
in the United States.

e During fires, polyurethane foams burn rapidly and produce dense
smoke, toxic gases and intense heat. Carbon monoxide 1s most
common, but smoke also contains benzene, toluene, nitrogen oxides

and hydrogen cyanide.
How benzene works?

e Benzene works by causing cells not to work correctly. For example,
it can cause bone marrow not to produce enough red blood cells,
which can lead to anemia. Also, it can damage the immune system
by changing blood levels of antibodies and causing the loss of white
blood cells.

e The seriousness of poisoning caused by benzene depends on the
amount, route, and length of time of exposure, as well as the age and

preexisting medical condition of the exposed person

Therefore, the correct answer is (d).
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70. If another global financial crisis happens in the near future, which of
the following actions/policies are most likely to give some immunity to

India?

(1) Not depending on short-term foreign borrowings
(2) Opening up to more foreign banks

(3) Maintaining full capital account convertibility

Select the correct answer using the code given below:

A 1 only

B 1 and 2 only

C 3 only
D 1,2 and 3
Solution

(1). The Short-term debts have to be returned at a shorter interval. This
renders an economy vulnerable if the economy 1is already facing economic
crisis as it has an obligation to return the debt as well as interest payments
(debt service). Example: Many economies like Mexico, Argentina etc who
faced crisis were seen to have borrowed large amounts of short-maturity
debt. So, the ideal scenarios is not to depend upon short-term debt during

CriSIS.
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(2). Opening up to the foreign banks and depending upon them is not a
good 1dea during crisis. It has been empirically observed in World Bank
Research that in many cases (like during Global Financial Crisis 2007-08)
that foreign banks reduced their lending during crisis. Many of them
choose to retreat from cross-border banking in general, including through

cutting back on new entry.

(3) Capital account convertibility would mean that there 1s no restriction
on conversion of the domestic currency into a foreign currency. It 1s
recognised that capital flows are sensitive to macroeconomic conditions.
Any deterioration in fiscal conditions, inflation management, balance of
payments, or any other economic crisis may cause a cessation or reversal
of capital flows. This might make the economy vulnerable if it already

suffering from economic crisis. Therefore, the correct answer 1s (a).
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71. With reference to the international trade of India at present, which of

the following statements is/are correct?

1. India’s merchandise exports are less than its merchandise
imports.

2. India’s imports of iron and steel, chemicals, fertilisers and
machinery have decreased in recent years.

3. India’s exports of services are more than its imports of services.

4. India suffers from an overall trade/current account deficit.

Select the correct answer using the code given below:

A 1 and 2 only

B 2 and 4 only

C 3 only

D 1,3 and 4 only

Solution

e India is net exporter in service .Observing the recent trends, there
was a surplus of $6.84billion in june,with exports standing at
$16.48billion and import at $9.64billion.

e As per RBI's data ,India's merchandise exports during april -august-
2019-2020 was $133billion compared to $210billion imports during

the same period.
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e India suffers from an overall trade deficite.
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72. In the context of the Indian economy, non-financial debt includes

which of the following?

1. Housing loans owed by households.
2. Amounts outstanding on credit cards

3. Treasury bills

Select the correct answer using the code given below:

A 1 only

B 1 and 2 only

C 3 only
D 1,2 and 3
Solution

e Non-financial debt consists of credit instruments issued by
governmental entities, households and businesses that are not
included in the financial sector.

e It shares most of the same characteristics with financial debt, except
the 1ssuers are non-financial.

e [t includes industrial or commercial loans, Treasury bills and credit

card balances. Therefore, the correct answer is (d).
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73. Consider the following statements:

1. In terms of short-term credit delivery to the agriculture sector,
District Central Cooperative Banks (DCCBs) deliver more
credit in comparison to Scheduled Commercial Banks and
Regional Rural Banks.

2. One of the most important functions of DCCB:s is to provide

funds to the Primary Agricultural Credit Societies.

Which of the statements given above is/are correct?

A 1 only

B 2 only

C Bothland 2

D Neither 1 nor 2

Solution

e In institutional sources, for the agricultural credit, 1t includes
commercial banks, co-operative credit institutions, regional rural
banks. Under institutional sources, commercial bank entered this
field very recently. The co-operative institutions play an important
role in providing credit to agricultural sector.

e The district central co-operative bank occupies a key position in the

co-operative credit structure. But the District Central Cooperative
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Banks (DCCBs) does not provide quantitatively more credit in
comparison to Scheduled Commercial Banks and Regional Rural
Banks. So, statement 1 1s not correct.

e Although statement 1 is not correct, the above pie-chart
demonstrates share of total agricultural credit and not short-term
credit. In short-term credit, share of SCBs 1s around 60% and that of
Cooperative Banks 1s around 30%.

e The most significant functions of the district central co-operative
bank 1s to provide financial support to the primary co-operative
societies that are affiliated to it in the district .

e These societies belong to highly diverse categories like the primary
agricultural credit societies, the producers’ cooperative societies,
handloom and handicrafts co-operative societies, salary earners co-
operative societies consumers co-operative societies, primary urban
co-operative banks etc.

e However, one of the most significant roles of the district central co-
operatives bank 1s to support and develop the primary agricultural
credit societies. So, statement 2 1s correct. Therefore, the correct

answer 1s (b).
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74. In India, under cyber insurance for individuals, which of the
following benefits are generally covered, in addition to payment for

the loss of funds and other benefits?

1. Cost of restoration of the computer system in case of malware
disrupting access to one’s computer

2. Cost of a new computer if some miscreant wilfully damages it, if
proved so

3. Cost of hiring a specialized consultant to minimize the loss in
case of cyber extortion

4. Cost of defence in the Court of Law if any third party files a

suit

Select the correct answer using the code given below:

A 1,2 and 4 only

B 1,3 and 4 only

C 2 and 3 only

D 1,2,3and 4

Solution

e Cyber insurance for individuals policies are designed to cover
expenses related to post factor actions of a cyber-attack. Such as, the

cost incurred during the prosecution process and defense costs are
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paid by the insurance company relating to the types of cyber risks
mentioned in the documentation of the policy.

e Other costs such as financial losses, online loss of money suffered
by the policyholder due to cyber-attacks are also covered in the
policy up to the sum assured as mentioned in the policy.

e Expenses incurred for counseling treatments post a cyber-attack is
also paid for including damages against third party liabilities and
restoration costs.

e It also takes care of consultant fees, court expenses, and legal fees

concerning the cyber-attack. So (1), (3), and (4) are covered.
What is not covered?

e [f the attack was intentionally and deliberately done, the policy will
not pay any claim.

e Insurers do not cover any fraudulent, dishonest or malicious act.

e These policies do not provide any cover for any prior actions of the
attack that the policyholder has faced before buying the policy; nor
do they cover for personal data or lost pictures in the policy.

e The insurers also take measures to avoid any cyber-attack to their
customers by prompting for backing up their data, updating anti-
virus and having a proper set of passwords.

e If such measures are not taken properly, in case of a cyber-attack,

your claim can be jeopardized.

Therefore, the correct answer is (b).
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75. In India, which of the following can be considered as public

investment in agriculture?

1. Fixing Minimum Support Price for agricultural produce of all
Crops

. Computerization of Primary Agricultural Credit Societies

. Social Capital development

. Free electricity supply to farmers

. Waiver of agricultural loans by the banking system

A U A W N

. Setting up of cold storage facilities by the governments

Select the correct answer using the code given below:

A 1,2 and 5 only

B 1,3, 4 and 5 only

C 2,3 and 6 only

D 1,23,4,5and 6

Solution

 Public investment in Agriculture constitutes investments made by
government to create capital or social assets to improve agricultural
productivity. Fixing MSP gives farmers the remunerative price without

creating any durable infrastructure. So, (1) is not correct.
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« Computerization Agri credit societies improves their productivity by
digitising their functioning. Social capital development like agri education
improves the knowledge base of farmers paving the way for improved

productivity. So, (2) and (3) are correct.

* While free electricity and waiver of agri loans creates government
liabilities without creating any durable assets on ground. So, (4) and (5)

are not correct.

* Cold chain infra also helps reduce post-harvest losses creating durable

assets. So, (6) 1s correct.

Therefore, the correct answer 1s (c).
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76. What is the importance of the term “Interest Coverage Ratio” of a

firm in India?

1. It helps in understanding the present risk of a firm that a bank
is going to give loan to.

2. It helps in evaluating the emerging risk of a firm that a bank is
going to give loan to.

3. The higher a borrowing firm’s level of Interest Coverage Ratio,

the worse is its ability to service its debt.

Select the correct answer using the code given below:

A 1 and 2 only

B 2 only

C 1 and 3 only

D 1,2 and 3

Solution

One of the significant and most crucial liquidity ratios is the Interest
Coverage Ratio, which indicates the level of a company's ability to afford
the interest that is to be paid by the company for raising debt. It does not
measure the ability to make principal payments on the debt; instead it
depicts how much the company can afford to pay the interests on the debt

promptly.
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 The interest coverage ratio is used to see how well a firm can pay the

interest on outstanding debt. So, statement 1 1s correct.

* Also called the times-interest-earned ratio, this ratio is used by creditors
and prospective lenders to assess the risk of lending capital to a firm. So,

statement 2 1s correct.

* A higher coverage ratio is better, although the ideal ratio may vary by

industry. So, statement 3 1s not correct.
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77. Consider the following statements:

https://streamline.e

1. The value of Indo-Sri Lanka trade has consistently increased in
the last decade.

2. “Textile and textile articles” constitute an important item of
trade between India and Bangladesh.

3. In the last five years, Nepal has been the largest trading partner
of India in South Asia.

Which of the statements given above is/are correct?

A 1 and 2 only

[ B 2 only ]

C 3 only
D 1,2 and 3
Solution

The trade between India and Sri Lanka was valued at USD 4.5 billion
during 2016-17 as compared to USD 6.05 billion during 2015-16,
registering a sharp decline of 25.25%. The exports decreased by 26.14 %
to USD 3.9 billion in 2016-17 from USD 5.31 billion in the previous year.
The export value in 2016-17 1s the lowest in last 5 years. The decline 1s
entirely contributed by reduction in export of aircraft by USD 1.22 billion.
The imports decreased by 19% to USD 602.21 million from USD 742.79
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million in 2015-16. Hence statement one is also not correct. So, statement
1 1s not correct. Textiles contributed 31.3% of Indian exports to
Bangladesh in 2016-17. The other prominent products of export were
engineering products (around 25% of exports), Chemical products (9% of
exports) and vegetable products such as fresh vegetables (8% of exports).
These top product categories accounted for 73% of total exports to
Bangladesh. Textiles and textile products formed the largest component of
imports from Bangladesh, and contributed to 60% of total imports. Within
textiles, jute products were the biggest import item. Hence second
statement 1s right. So, statement 2 1s correct. As per 2016-17 data,
Bangladesh 1s the largest trading partner in South Asia, followed by Nepal,
Sr1 Lanka, Pakistan, Bhutan, Afghanistan and Maldives. The level of
Indian exports also follows the same order. So statement 3 is not correct.

Therefore, the correct answer is (b).
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78. In which one of the following groups are all the four countries

members of G20?

A Argentina, Mexico, South Africa and Turkey

B Australia, Canada, Malaysia and New Zealand

C Brazil, Iran, Saudi Arabia and Vietnam

D Indonesia, Japan, Singapore and South Korea
Solution

G20 1s an international forum for global economic cooperation.

It has 20 members, and these countries are as follows- Argentina,
Australia, Brazil, Canada, China, France, Germany, India,
Indonesia, Italy, Japan, Republic of Korea, Mexico, Russia,
Saudi Arabia, South Africa, Turkey, United Kingdom, United
States, and the European Union.

Hence option 1 is correct.

G20 members account for 85 per cent of the world economy, 75 per
cent of global trade, and two-thirds of the world's population.

G20 was formed in 1999 and its present chairman 1s Joko Widodo.
Canadian finance minister Paul Martin was chosen as the first
chairman and German finance minister Hans Eichel hosted the

inaugural meeting.
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Therefore, the correct answer is (a).
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79. With reference to the cultural history of India, consider the following

pairs:

1. Parivrajaka — Renunciant and Wanderer
2. Shramana — Priest with a high status

3. Upasaka — Lay follower of Buddhism

Which of the pairs given above are correctly matched?

A 1 and 2 only

B 1 and 3 only

C 2 and 3 only

D 1,2 and 3

Solution

Parivrajaka literary means a wandering mendicant, vagrant, recluse, an
ascetic. Shramana 1s also the same. These were the monks or ascetics of
the heterodox sects during the early India who didn’t follow the
Brahmanical varnashrama dharma. Thus, pair (1) is correct while pair (2)

1S not correct.

Upasaka means a lay follower of Buddhism. He 1s the one who believes in
the three oaths and follows the Buddha’s doctrine but doesn’t renunciate

the material world altogether and doesn’t become a Bhikkhu in the
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Sangha. Thus, pair (3) is correct. Therefore, the correct answer is (b)
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80. With reference to Indian elephants, consider the following

statements:

1. The leader of an elephant group is a female.

2. The maximum gestation period can be 22 months.

3. An elephant can normally go on calving till the age of 40 years
only.

4. Among the States in India, the highest elephant population is in
Kerala.

Which of the statements given above is/are correct?

A 1 and 2 only

B 2 and 4 only

C 3 only

D 1,3 and 4 only

Solution

Elephants live in small family groups led by old females (cows) and
Gestation 1s the longest of any mammal (18—22 months). So, statement 1

and 2 are correct.
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According to the report, released by the Ministry of Environment, Forests
and Climate Change on August 12, Karnataka has the highest number of
elephants (6,049), followed by Assam (5,719) and Kerala (3,054). So,

statement 3 and 4 are not correct.

Therefore, the correct answer is (a).
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81. Which of the following Protected Areas are located in Cauvery basin?

1. Nagarhole National Park

2. Papikonda National Park

3. Sathyamangalam Tiger Reserve
4. Wayanad Wildlife Sanctuary

Select the correct answer using the code given below:

A 1 and 2 only

B 3 and 4 only

C 1,3 and 4 only

D 1,2,3and 4

Solution

Nagarhole National Park, also known as Rajiv Gandhi National Park, 1s in
the Cauvery Basin in India's Karnataka State. Papikonda National Park 1s
located near Rajamahendravaram in the Papi Hills in East Godavari and
West Godavari districts of Andhra Pradesh, and covers an area of 1,012.86
km2 (391.07 sq mi1).It 1s an Important Bird and Biodiversity Area and

home to some endangered species of flora and fauna. No part of Papikonda
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remains outside East and West Godavari districts after 2014 and after the
construction of Polavaram Dam. It means it 1s not in cauvery basin.

Therefore, the correct answer is (c).
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82. With reference to India’s biodiversity, Ceylon frogmouth,
Coppersmith barbet, Gray-chinned minivet and White-throated

redstart are

A Birds

B Primates

C Reptiles

D Amphibians

Solution

e Ceylon Frogmouth is also known as Srilanka frogmouth.
o It 1s a bird species found in the Western Ghats.
o [ts IUCN status 1s the least concern.
o Its biological name is Batrachostomus moniliger.
e Coppersmith Barbet is also known as Crimson-breasted barbet is
bird species found in the whole Indian Subcontinent.
o Its IUCN status 1s the least concerned.
o Its scientific name is Psilopogon haemacephalus.
e Grey Chinned minivet is bird species found from the Himalayas to
China.
o Its IUCN status 1s least concerned.

o Pericrocotus Solaris is its biological name.
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e White-throated redstart is a bird species found in India, Nepal,
Bhutan, and China.
o It 1is also given the status of least concern by IUCN.

o Its biological name is Phoenicurus schisticeps.
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83. Which one of the following protected areas is the of the (Barasingha)
that thrives well on hard ground well-known for conservation of a

sub-species Indian swamp deer and is exclusively graminivorous ?

A Kanha National Park

B Manas National Park

C Mudumalai Wildlife Sanctuary

D Tal Chhapar Wildlife Sanctuary

Solution

The revival of BaraSingha, an endangered and endemic cervid, belonging
to the cervidae family, in the Kanha Tiger Reserve 1s hailed as one of the
most successful and inspiring conservation projects in the world. While
Kanha’s name may be synonymous with the tiger, it is actually the hard
ground barasingha that has consistently challenged the professionalism,
including foresightedness and managerial adaptability, of the Kanha

management. Therefore, the correct answer 1s (a).
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84. Which of the following are the most likely places to find the musk

deer in its natural habitat?

1. Askot Wildlife Sanctuary

2. Gangotri National Park

3. Kishanpur Wildlife Sanctuary
4. Manas National Park

Select the correct answer using the code given below:

A 1 and 2 only

B 2 and 3 only

C 3 and 4 only

D 1 and 4 only

Solution

The white-bellied musk deer or Himalayan musk deer (Moschus
leucogaster) 1s a musk deer species occurring in the Himalayas of Nepal,
Bhutan, India, Pakistan and China. It 1s found in Askot Wildlife Sanctuary
and Gangotri National Park located in the Himalayan regions. It is listed as
endangered on the IUCN Red List because of overexploitation resulting in

a probable serious population decline. So, (1) and (2) are correct.
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The Kishanpur Wildlife Sanctuary is a part of the Dudhwa Tiger reserve
near Mailani 1n Uttar Pradesh, India and Musk deer is not found here. So

(3) 1s not correct.

Manas National Park or Manas Wildlife Sanctuary is a national park,
UNESCO Natural World Heritage site, a Project Tiger reserve, an elephant
reserve and a biosphere reserve in Assam, India. The park 1s known for its
rare and endangered endemic wildlife such as the Assam roofed turtle,
hispid hare, golden langur and pygmy hog. Manas is famous for its

population of the wild water buffalo. So (4) is not correct.

Therefore, the correct answer is (a).
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85. In rural road construction, the use of which of the following is
preferred for ensuring environmental sustainability or to reduce

carbon footprint?

1. Copper slag

2. Cold mix asphalt technology
3. Geotextiles

4. Hot mix asphalt technology

5. Portland cement

Select the correct answer using the code given below:

A 1,2 and 3 only

B 2,3 and 4 only

C 4 and 5 only

D 1 and 5 only

Solution

The usage of Copper slag reduces the usage of primary materials as well as
reduces the construction depth which in turn reduces energy demand in

building. So, (1) is correct.
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* Cold asphalt mix is produced by mixing unheated mineral aggregate with
either emulsified bitumen or foamed bitumen. Unlike hot mix asphalt
(HMA), cold asphalt mix does not require any heating of aggregate which
makes 1t economical and relatively pollution-free (no objectionable fumes

or odours). So, (2) 1s correct and (4) is not correct.

» Geotextiles reinforces the soil by adding tensile strength to 1. It 1s used as

a rapid de watering layer in the roadbed. So, (3) is correct.

 Portland cement production needs energy and can impact the

environment. So, (5) 1s not correct.

Therefore, the correct answer is (a).
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86. Consider the following statements:

1. Coal ash contains arsenic, lead and mercury.
2. Coal-fired power plants release sulphur dioxide and oxides of
nitrogen into the environment.

3. High ash content is observed in Indian coal.

Which of the statements given above is/are correct?

A 1 only

B 2 and 3 only

C 3 only
D 1,2 and 3
Solution

Coal ash contains contaminants like mercury, cadmium and arsenic.
Without proper management, these contaminants can pollute waterways,
ground water, drinking water, and the air. The burning of coal releases
many pollutants - oxides of nitrogen (NOx) and sulfur (SOx) - and
particulate matter. They also emit greenhouse gases, such as carbon
dioxide (CO2) and methane (CH4), which are known to contribute to
global warming and climate change. Coal India Limited announced that

ash content of coal produced in the country 1s generally 25 to 45 %
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whereas average ash content of imported coal varies from 10 to 20 %.
Indian Coal has comparatively higher ash content than imported coal due
to drift theory of formation of coal deposits in India. Therefore, all

statements are correct. Therefore, the correct answer is (d).
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87. What is the use of biochar in farming?

1. ‘Biochar can be used as a part of the growing medium in
vertical farming.

2. When biochar is a part of the growing medium, it promotes the
growth of nitrogen-fixing microorganisms.

3. When biochar is a part of the growing- medium, it enables the

growing medium /to retain water for longer time.

Which of the statements given above is/are correct?

A 1 and 2 only

B 2 only

C 1 and 3 only

D 1,2 and 3

Solution

Biochar has the potential to produce farm-based renewable energy in an
eco-friendly way. Specifically, the quality of biochar depends on several
factors, such as the type of soil, metal, and the raw material used for
carbonization, the pyrolysis conditions, and the amount of biochar applied
to the soil. In addition, the biochar amendment to the soil proved to be
beneficial to improve soil quality and retain nutrients, thereby enhancing

plant growth. Since biochar contains organic matter and nutrients, its
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addition increased soil pH, electric conductivity (EC), organic carbon (C),
total nitrogen (TN), available phosphorus (P), and the cation-exchange
capacity (CEC). Earlier, reported that the biochar application affected the
toxicity, transport, and fate of various heavy metals in the soil due to
improved soil absorption capacity. The presence of plant nutrients and ash
in the biochar and its large surface area, porous nature, and the ability to
act as a medium for microorganisms have been identified as the main
reasons for the improvement in soil properties and increase in the
absorption of nutrients by plants in soils treated with biochar. Biochar
application decreased the tensile strength of soil cores, indicating that the
use of biochar can reduce the risk of soil compaction. A lot has already
been discussed on the benefits of inoculation of rhizobacteria in soil, but
the addition of biochar can also provide more nutrients to the soil, thus
benefiting the agricultural crops. The mixing of the plant growth-
promoting microorganisms with biochar was referred to as the best
combination for growth and yield of French beans Therefore, all

statements are correct. Therefore, the correct answer 1s (d).
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88. What is/are the advantage/advantages of zero tillage in agriculture?

1. Sowing of wheat is possible without burning the residue of
previous crop.

2. Without the need for nursery of rice saplings, direct planting of
paddy seeds in the wet soil is possible.

3. Carbon sequestration in the soil is possible.

Select the correct answer using the code given below:

A 1 and 2 only

B 2 and 3 only

C 3 only
D 1,2and3
Solution

Zero Tillage 1s the process of agriculture that promotes conservation
agriculture. Here the soil is not tilled and left with at least 30% of cover
over soil which may be previous crop. When wheat seeds are sown 1n soil
using happy seeder, the rice stalks act as mulch. It not only prevents
harmful gases that are released when stubbles are burnt but also provides
enhanced nutrients and improves moisture holding capacity of the soil. The

same 1s also true for rice when it 1s directly sown without transplantation.
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As the soil 1s not tilled the remains of previous crop hold carbon and
prevent it from entering atmosphere as carbon di oxide. All statements are

correct. Therefore, the correct answer 1s (d).
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89. According to India’s National Policy on Biofuels, which of the

following can be used as raw materials for the production of biofuels?

1. Cassava

2. Damaged wheat grains
3. Groundnut seeds

4. Horse gram

S. Rotten potatoes

6. Sugar beet

Select the correct answer using the code given below:

A 1,2,5 and 6 only

B 1, 3,4 and 6 only

C 2, 3,4 and 5 only

D 1,2,3,4,5and 6

Solution

The National Policy on Biofuels expands the scope of raw material for
ethanol production by allowing use of Sugarcane Juice, Sugar containing
materials like Sugar Beet, Sweet Sorghum, Starch containing materials like
Corn, Cassava, Damaged food grains like wheat, broken rice, Rotten
Potatoes, unfit for human consumption for ethanol production. Therefore,

the correct answer is (a).
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90. Which one of the following statements best describes the term ‘Social

Cost of Carbon’? It is a measure, in monetary value, of the

A long-term damage done by a tonne of CO2, emissions in a given year.

B

requirement of fossil fuels for a country to provide goods and services to its
citizens, based on the burning of those fuels

C efforts put in by a climate refugee to adapt to live in a new place.

D

contribution of an individual person to the carbon footprint on the planet Earth.

Solution

Scientists expect climate change to have increasingly negative
consequences for society, from rising sea levels to more frequent
heatwaves. There 1s broad agreement that 1nitial, modest benefits — for
instance, increased yields for some crops in some regions — will be
outweighed by costs as temperatures rise. One way to get a handle on this
question 1s through the social cost of carbon (SCC), which tries to add up
all the quantifiable costs and benefits of emitting one additional tonne of
CO2, in monetary terms. This value can then be used to weigh the benefits
of reduced warming against the costs of cutting emissions. Therefore, the

correct answer 1s (a).
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91. “The crop is subtropical in nature. A hard frost is injurious to it. It
requires at least 210 frost-free days and 50 to 100 centimeters of
rainfall for its growth. A light well-drained soil capable of retaining
moisture is ideally suited for the cultivation of the crop.” Which one
of the following is that crop?

A Cotton

B Jute

C Sugarcane

D Tea

Solution

Ideal conditions for the cotton plant are: Temperature: Cotton grows in
tropical and sub-tropical warm humid climate. Annual temperature
required 1s between to 20 to 28 Degree C. Equitable temperature
distribution and bright sunshine 1s desirable. Rainfall: Annual Rainfall of
55 to 100 cm is ideal for cotton. However, rainfall during harvest is
harmful. Frost Free days: 180 frost free days are the bottom line for cotton
cultivation. Atleast 210 frost free days are desirable for cotton production.
Soil: Fertile saline soil with high water retention capacity is ideal. Loamy
soil with high calcium carbonate is best suited for cotton cultivation.

Therefore, the correct answer is (a).
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92. With reference to the current trends in the cultivation of sugarcane in

India, consider the following statements:

1. A substantial saving in seed material is made when ‘bud chip
settlings’ are raised in a nursery and transplanted in the main
field.

2. When direct planting of setts is done, the germination
percentage is better with single-budded setts as compared to
setts with many buds.

3. If bad weather conditions prevail when setts are directly
planted, single-budded setts have better survival as compared
to large setts.

4. Sugarcane can be cultivated using settlings prepared from

tissue culture.

Which of the statements given above is/are correct?

A 1 and 2 only

B 3 only

C 1 and 4 only

D 2,3 and 4 only

Solution
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Sugarcane 1s normally propagated by stalk cuttings consisting of 2 to 3 bud
sett. In conventional system, about 68 tons seed cane /ha 1s used as
planting material. Establishing the sugarcane crop using bud chips in place
of setts could save about 80% by weight of the stalk material, however this
technology has not been scaled up at commercial levels due to poor
survival of bud chips under field conditions. So, statement 1 is correct. The
researchers found that the setts having two buds are giving germination
about 65 to 70 % with better yield. Large setts have better survival under
bad weather but single budded setts also gives 70% germination if
protected with chemical treatment. So, statement 2 and 3 are not correct.
Planting 1s the most important and labour intensive operation in sugarcane
cultivation. Sugarcane germination as well as yield 1s affected by planting
material, layout, plant-population, method of planting and placement of
bud etc. Planting material for vegetative propagation such as whole cane,
setts having of single bud to six buds, settling prepared from tissue culture
or single buds in nursery are being used. So, statement 4 1s correct.

Therefore, the correct answer is (c).

https://streamline.entri.app/#/questioncollections/61240/print/?statement=enabled&options=enabled&answerKey=enabled&solutions=enabled&activeLanguage=en

1711187



1/20/25, 12:52 PM Entri | Entri Content Platform

93. In the context of India, which of the following is/are considered to be

of practice(s) of eco-friendly agriculture?

1. Crop diversification
2. Legume intensification
3. Tensiometer use

4. Vertical farming

Select the correct answer using the code given below:

A 1,2 and 3 only

B 3 only

C 4 only

D 1,2,3 and 4

Solution

Crop diversification refers to the addition of new crops or cropping
systems to agricultural production on a particular farm taking into account
the different returns from valueadded crops with complementary
marketing opportunities. Introducing a greater range of varieties in a
particular agro - ecosystem leads to diversification of agricultural
production which can also increase natural biodiversity, strengthening the

ability of the agro-ecosystem to respond to these stresses. So (1) is correct.
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The discourse on Legume intensification is currently framed as
‘Sustainable Intensification’ (SI), and commonly encompasses three

dimensions:

(1) increased productivity;

(1) maintenance of ecosystem services; and
(111) increased resilience to shocks.

So (2) 1s correct.

When the water pressure in the tensiometer 1s determined to be in
equilibrium with the water pressure in the soil, the tensiometer gauge
reading represents the matric potential of the soil. Such tensiometers are
used 1n irrigation scheduling to help farmers and other irrigation managers
to determine when to water. Its also considered as eco-friendly agriculture
as it help control the excessive use of water distorting the quality of the

soil. So (3) is correct.

Vertical farming is the practice of growing crops in vertically stacked
layers. It often incorporates controlled-environment agriculture, which
aims to optimize plant growth, and soilless farming techniques such as

hydroponics, aquaponics, and aeroponics. So (4) is correct.

Therefore, the correct answer is (d).
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94. What are the advantages of fertigation in agriculture?

1. Controlling the alkalinity of irrigation water is possible.

2. Efficient application of Rock Phosphate and all other
phosphatic fertilizers is possible.

3. Increased availability of nutrients to plants is possible.

4. Reduction in the leaching of chemical nutrients is possible.

Select the correct answer using the code given below:

A 1,2 and 3 only

B 1,2 and 4 only

C 1,3 and 4 only

D 2, 3 and 4 only

Solution

Fertigation 1s a process in which fertilizer is dissolved and distributed
along with water in your drip or spray irrigation system. There 1s abundant
research available that supports the superiority of fertigation as compared

to traditional fertilizing techniques. Advantageous of fertigation:
 Improves efficiency of fertilizer use

* Increases nutrient availability ((Hence, statement 3 is correct))
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 Saves 20-40% fertilizer without affecting growth and yield
 Saves labour and energy in application of fertilizer

* Reduce environmental contamination through fertilizer run-offs
» Reduces leaching of nutrients (Hence, statement 4 is correct)

 Allows to alter the pH of the irrigation water (Hence, statement 1 1s

correct) Disadvantages of fertigation

» Uneven nutrient distribution occurs when the irrigation system i1s faulty.
It leads to over fertilization or leaching of nutrients when excess water 1s

applied to crops.

* Chemical reactions of fertilizer with calcium and magnesium,

bicarbonates in water, which can lead to chemical clogging.

* Suitable for readily soluble or liquid fertilizers. Phosphatic fertilizer and
some micronutrients may precipitate in micro-irrigation system. Hence,
statement 2 1s not correct. (statement 2 can be eliminated from the given

options)
 Corrosion resistant fertigation equipments are needed.
 Potential chemical backflow into the water supply source.

Therefore, the correct answer is (c).
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95. Consider the following minerals:

1. Bentonite
2. Chromite
3. Kyanite

4. Sillimanite

In India, which of the above is/are officially designated as major

minerals?

A 1 and 2 only

B 4 only

C 1 and 3 only

D 2,3 and 4 only

Solution

Major minerals are those specified in the first schedule appended in the
MMDR Act. There 1s no official definition for “major minerals” in the
MMDR Act. Hence, whatever 1s not declared as a “minor mineral” may be
treated as the major mineral. The central government has the power to
notify “minor minerals” under section 3 (¢) of the MMDR Act, 1957. On
the other hand, as per Section 15 of the MMDR Act, 1957 State
Governments have complete powers for making Rules for grant of

concessions in respect of extraction of minor minerals and levy and
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collection of royalty on minor minerals. Thus, “Minor Minerals™ are
building stones, gravel, ordinary clay, ordinary sand other than sand used
for prescribed purposes etc. Therefore, Chromite, Kyanite and Sillimanite
are major minerals, whereas Bentonite is a minor mineral. Therefore, the

correct answer 1s (d).
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With reference to Ocean Mean Temperature (OMT), which of the

following statements is/are correct?

1. OMT is measured up to a depth of 26°C isotherm which is 129

meters in the south-western Indian Ocean during January —

March.
2. OMT collected during January — March can be used in
assessing whether the amount of rainfall in monsoon will be less

or more than a certain long-term mean.

Select the correct answer using the code given below:

A 1 only

B 2 only

C Both 1 and 2

D Neither 1 nor 2

Solution

Sea surface temperature (SST) 1s routinely used for predicting whether the
total amount of rainfall that India receives during the monsoon season will

be less or more than the long-term mean of 887.5 mm.
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* Now, scientists from Pune’s Indian Institute of Tropical Meteorology
(IITM) find that Ocean Mean Temperature (OMT) has better ability to
predict this than the Sea Surface Temperature. Compared with SST which
has 60% success rate of predicting the Indian summer monsoon, OMT has

80% success rate.

 OMT 1s analysed by measuring the ocean thermal energy during the
period from January to March. Using OMT data, scientists are able to
predict with 80% probability the monsoon of any year. Hence, statement 2

1S correct.

« SST 1s restricted to a few millimetres of the top ocean layer, whereas
OMT which 1s measured up to a depth of 26 degree C 1sotherm, is more
stable and consistent, and the spatial spread is also less. The 26 degree C
isotherm is seen at depths varying from 50—100 metres. During January—
March, the mean 26 degree C isotherm depth in the Southwestern Indian

Ocean 1s 59 metres. Hence, statement 1 1s not correct.

Therefore, the correct answer is (b).

https://streamline.entri.app/#/questioncollections/61240/print/?statement=enabled&options=enabled&answerKey=enabled&solutions=enabled&activeLanguage=en

179/187



1/20/25, 12:52 PM Entri | Entri Content Platform

97. With reference to chemical fertilizers in India, consider the following

statements:

1. At present, the retail price of chemical fertilizers is market-
driven and not administered by the Government.

2. Ammonia, which is an input of urea, is produced from natural
gas.

3. Sulphur, which is a raw material for Phosphoric acid fertilizer,

is a by-product of oil refineries.

Which of the statements given above is/are correct?

A 1 only

B 2 and 3 only

C 2 only
D 1,2 and 3
Solution

The Government of India subsidizes fertilizers to ensure that fertilizers are
casily available to farmers and the country remains self-sufficient in
agriculture. The same has been achieved largely by controlling the price of
fertilizer and the amount of production. The urea 1s being provided to the
farmers at a statutorily notified Maximum Retail Price (MRP). Under the

NBS Policy, the Government announces a fixed rate of subsidy (in Rs. per
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Kg basis), on each nutrient of subsidized fertilizers, namely Nitrogen (N),
Phosphate (P), Potash (K) and Sulphur (S), on annual basis. Hence,

statement 1 1s not correct.

Synthetic ammonia (NH3) refers to ammonia that has been synthesized
(Standard Industrial Classification 2873) from natural gas. Natural gas
molecules are reduced to carbon and hydrogen. The hydrogen is then
purified and reacted with nitrogen to produce ammonia. Approximately 75
percent of the ammonia produced is used as fertilizer, either directly as
ammonia or indirectly after synthesis as urea, ammonium nitrate, and
mono-ammonium or diammonium phosphates. Hence, statement 2 1s

correct.

Sulphur 1s a major by-product of o1l refining and gas processing. Most
crude o1l grades contain some sulphur, most of which must be removed
during the refining process to meet strict sulphur content limits in refined
products. This 1s typically done through hydrotreating and results in
production of H2S gas, which 1s converted into elemental sulphur in the
sulphur recovery unit. The resultant elemental sulphur is in a molten state
and can either be sold as a heated liquid or (more commonly) converted to
solid form as blocks or pellets. Most of the sulphur produced by refineries
is sold into the petrochemicals market where it 1s used to make sulfuric
acid. Commercial phosphoric acid is produced by applying an excess of
sulphuric acid to ground rock phosphate. This phosphoric acid 1s usually
applied to an additional amount of phosphate rock to make concentrated

superphosphate. Hence, statement 3 is correct.

Therefore, the correct answer is (b).
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98. With reference to India’s Desert National Park, which of the

following statements are correct?

1. It is spread over two districts.
2. There is no human habitation inside the Park.

3. It is one of the natural habitats of Great Indian Bustard.

Select the correct answer using the code given below:

A 1 and 2 only

B 2 and 3 only

C 1 and 3 only

D 1,2 and 3

Solution

The Thar Desert or the Desert National Park (DNP) in north-western India

is a unique and the only habitat of its type in the Indian subcontinent.

* The Aravalli hills mark the eastern-most boundary limit of the Thar
desert while the western limit 1s defined by the fertile plains of the Indus.
The Great Rann of Kutch forms a sharp boundary in the south while its

northern limits are formed by the riparian sub-Himalayan plains.
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» The Desert National Park (DNP) covers an area of 3162 km? of which
1900 km? 1s 1n Jaisalmer district and remaining 1262 km? is in Barmer

district of Rajasthan State. Hence, statement 1 1s correct.

 The area falls in the extreme hot and arid region of very low rainfall zone

(<100mm) of the country. DNP was gazetted in the year 1980.

* DNP 1s a home to Great Indian Bustard (locally called Godawan) along

with more than 100 species of birds. Hence, statement 3 1s correct.

e The Thar desert 1s the most thickly populated desert in the world with an
average density of 83 persons/km? (compared to 7km? of other deserts).
However, the human population within the DNP 1s low (4-5 persons per
km?). There are 73 villages and also settlements or Dhanis existing within

the Park. Hence, statement 2 1s not correct.

Therefore, the correct answer is (c).
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99. Siachen Glacier is situated to the

A East of Aksai Chin

B East of Leh

C North of Gilgit

D North of Nubra Valley

Solution

Siachen Glacier 1s one of the world’s longest mountain glaciers, lying in
the Karakoram Range system of Kashmir near the India—Pakistan border,
extending for 70 km from north-northwest to south-southeast. It is the
source for the 50-mi-long Nubra River, a tributary of the Shyok, which is
part of the Indus River system. Siachen Glacier lies to the north of the

Nubra valley. Hence, option (d) 1s correct. Therefore, the correct answer 1s

(d).
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100. Consider the following statements :

1. 36% of India’s districts are classified as “overexploited” or
“critical” by the Central Ground Water Authority (CGWA).

2. CGWA was’ formed under the Environment (Protection) Act.

3. India has the largest area under groundwater irrigation in the

world.

Which of the statements given above is/are correct?

A 1 only

B 2 and 3 only

C 2 only

D 1 and 3 only

Solution

Central Ground Water Authority (CGWA) has been constituted under
Section 3 (3) of the Environment (Protection) Act, 1986 to regulate and
control development and management of ground water resources in the

country. Hence, statement 2 1s correct.

India's irrigation is mostly groundwater well based. At 39 million hectares
(67% of its total irrigation), India has the world's largest groundwater well

equipped irrigation system (China with 19 mha is second, USA with 17
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mha 1s third). Hence, statement 3 1s correct.

According to National Compilation of Groundwater Resource of India
2017, the average stage of ground water extraction for the country as a
whole works out to be about 63 %. The extraction of ground water for

various uses in different parts of the country is not uniform.

Out of the total 6881 assessment units (Blocks/ Mandals/ Talukas/Firkas)
in the country, 1186 units in various States (17%) have been categorized as
‘Over-Exploited’ indicating ground water extraction exceeding the
annually replenishable ground water recharge. In these areas the
percentage of ground water extraction is more than 100 percent. In
addition, 313 units (5%) are ‘Critical’, where the stage of ground water
extraction 1s between 90-100 %. There are 972 semi-critical units (14%),
where the stage of ground water extraction is between 70% and 90% and
4310 assessment units (63%) have been categorized as ‘Safe‘, where the
stage of Ground water extraction 1s less than 70 %. Apart from this, there
are 100 assessment units (1%), which have been categorized, as ‘Saline’ as
major part of the ground water in phreatic aquifers is brackish or saline. In
January 2020, NGT had ordered the Centre to put on hold its new norms
on groundwater use. About 20,000 applications are pending before the
CGWA. Around 800,000 companies fall in overexploited, critical and
semi-critical blocks, representing 36% of 6,881 groundwater assessment

units. Hence, statement 1 1s not correct.

Therefore, the correct answer is (b).
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